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Friday, October 25, 2019
--- On commencing at 9:32 a.m.

HYDRO ONE NETWORKS INC. - PANEL 1, resumed

Godfrey Holder,
Andrew Spencer,
Mark Brodie,
Bruno Jesus,
Donna Jablonsky, Previously Affirmed.

DR. ELSAYED:  Please be seated.

Do we have any preliminary matters?

MR. KEIZER:  Yes, Mr. Chair, we do.
Preliminary Matters:


MR. KEIZER:  Just a follow-on from yesterday.  A couple of things.  One is, I believe Ms. Grice asked questions about updates to the capital numbers based on 2019 actuals.  Ms. Grice and I have had a discussion this morning and agreed as to what the nature of the update is and where it would occur.

And so what we have agreed to do is to, by way of undertaking, update the Table 2 in the TSP 3.3, page 3, which is a bridge and test-year capex summary table, and so we will include a column which will provide 2019 based on Q2 actuals, and another column for 2018 actuals in that table.  So that's the first issue.

The second is --


DR. ELSAYED:  Sorry.

MR. SIDLOFSKY:  Can we just note that as an undertaking first.

MR. KEIZER:  Yes, please.

MR. SIDLOFSKY:  J4.1.
UNDERTAKING NO. J4.1:  TO UPDATE THE TABLE 2 IN THE TSP 3.3, PAGE 3 TO INCLUDE A COLUMN SHOWING 2018 Q2 ACTUALS AND 2019 Q2 ACTUALS.

DR. ELSAYED:  Thank you.

MR. KEIZER:  The second is with respect to a project listing.  So Hydro One is able to provide a project listing for the test-year projects as well, so if we can mark that as an undertaking.

MR. SIDLOFSKY:  J4.2.
UNDERTAKING NO. J4.2:  TO PROVIDE A LIST OF THE TEST-YEAR PROJECTS.

MS. ANDERSON:  Can I just confirm.  You said it would have Q2 actuals for '19 and actuals for '18?  Like, is it Q2 actuals with forecast year end?  Or is it --


MR. KEIZER:  Yes.  It is an update of the 2019 number --


MS. ANDERSON:  Full year with actuals.

MR. KEIZER:  -- based on Q2 actuals.  That's what I believe it to be.

MS. GRICE:  Yes.

MR. KEIZER:  Sorry, if I could just have a moment, make sure I have got it right.  Sorry, my apologies.  I have screwed it up already, is that we are providing Q2 actuals, but we're not forecasting out to the end of the year.  My apologies, I misspoke.

MS. ANDERSON:  And then the 2018 is the full-year actuals?

MR. KEIZER:  Yes.

MS. GRICE:  No, sorry.  We were hoping to get Q2 actuals as well for 2018, 2018 Q2 actuals and then 2019 Q2 actuals.

MR. KEIZER:  I think we can do that as well.  So we can do that as well.  So that's the first one.

Then the second is that we can provide a list of projects for the test year, which I guess should also be marked as a separate undertaking.

And then the third issue or preliminary matter is, I spoke this morning with my friend, Mr. Rubenstein.  He provided us with his -- some materials in advance of panel 2, and I mistakenly thought that the evidence relating to the system control centre was being dealt with in panel 2.  It is actually being dealt with here in panel 1.

So he has agreed to pose his questions to the Hydro One witness that is applicable to that after Mr. Garner has completed his cross this morning, because we wanted to make sure that if our witness is here, that we can finish with panel 1 in its entirety.

MR. RUBENSTEIN:  Yes.  I made an error.  I was considering how the DX case and the split in the panels and then the comment about the IT person being switched panels, I made a mistake.  So if it's -- with the Panel's indulgence, if I can have some time to ask some questions at the end of Mr. Garner's cross today, it will obviously shorten my cross on panel 2, just to move things up to ask a few questions about that facility.

DR. ELSAYED:  Okay.  So we will start with Mr. Garner first and then go to Mr. Rubenstein.

MR. KEIZER:  And then I think there is only one other matter, which I think Mr. Sidlofsky can speak to, with respect to the discussions we had yesterday relating to the disclosure of certain information --


DR. ELSAYED:  Oh, yes.

MR. KEIZER:  -- for PEG.

DR. ELSAYED:  Go ahead, please.

MR. SIDLOFSKY:  Dr. Elsayed, the PANEL May recall that Mr. Keizer and I yesterday were talking about what PEG, the Pacific Economics Group, has referred to as the S factor.

And a discussion of that came up in PEG's response to one of the Hydro One interrogatories on the PEG expert evidence.  So there was a question about whether certain Hydro One employees could have access to that confidential material.

I think I mentioned yesterday that OEB Staff were working with PEG to try and isolate that material so that we could deal with it appropriately.

As it happens, not only has that material been isolated, but PEG has determined that it would be all right to disclose that -- those S factor calculations publicly.

So OEB Staff this morning are filing copies of the spreadsheet with the Board and a cover letter that explains this.  So there will be public access to that material.

DR. ELSAYED:  Okay, thank you.

MR. SIDLOFSKY:  Thank you.  Mr. Garner.


Cross-Examination by Mr. Garner:

MR. GARNER:  Thank you, Mr. Chair.  Good morning, panel.  My name is Mark Garner, and I represent the Vulnerable Energy Consumer Coalition.

And thank you, I have learned a lot over the last three days of your testimony.  But I have more questions, and some being I am not an engineer, which is going to become apparent as I ask these questions.

So I want to start and kind of go back to the beginning.  I know that may be frustrating, but I have heard a lot of times, and I want to put them all together, right, in my own mind.

So I am trying to give you some context.  I am trying to get straight in my mind this.  You have in your capital plan the concept of end of life.  You have in your capital plan the concept of end of service life.  You have in your capital plan the concept of risk assessment, and then as I understand you have in your capital plan -- and this all broadly speaking -- the concept of overlaying outside constraints, outside constraints being either your consumer -- or your survey of your budget with your interested parties and budgetary constraints, you know, just the way you operate.

And I think broadly speaking, without getting into the details, that's basically the concept, is it not?  You take all of those different things to then create a list of projects you are going to do?

MR. JESUS:  I tend to agree, except there are a couple of statements you made that were not exactly accurate.

You referred to end of -- sorry, end of --


MR. GARNER:  End of life?

MR. JESUS:  End of service life.  End of life.  So it's not end of service life.  It is expected service life, which is a population average of survival, which is what the expected service life means.  It's not the end of service life.

MR. GARNER:  Okay, thank you.  Thank you.  That is very helpful, because maybe you could explain more about that as we go through this, because that may be part of where I need some clarification.

So if I go to and you go to the first tab of my compendium, what I've done there is I've just extracted, I believe, under your asset -- you call it your asset risk assessment process.  And you will see there that you have outlined a number of factors in that.  And --


MR. SIDLOFSKY:  I'm sorry, Mr. Garner, I don't want to interrupt you, but I will.  We just need to mark the compendium as an exhibit.

MR. GARNER:  I'm sorry.

MR. SIDLOFSKY:  No, that's okay.  That will be K4.1.
EXHIBIT NO. K4.1:  VECC CROSS-EXAMINATION COMPENDIUM FOR PANEL 1.

MR. GARNER:  Thank you.  So if you go to tab 1, I have extracted these, I think, one, two, three, four, five.  Five items.  And we will start with condition.

And I just want to summarize back to you what I read when I read that and take this step by step.

So when we get to the first one, which is "condition", what I understand you're saying in this part of the exercise, you're doing an asset condition -- and that's either done through a visual inspection, it's done through either a testing inspection.  It depends on the asset.  Right?  It depends on what type of asset you've got.  That's the condition aspect of this exercise.  Right?

MR. JESUS:  It is the asset condition assessment associated with the asset.  Visual inspections are part of it, but generally speaking, for transformers it's dissolved gas analysis.  That's the oil, it's the blood sample, if you will, that looks into the overall condition of the unit, the aging of the unit, whether the insulation associated with those massive windings are holding true.

For a conductor, it is doing the torsion tests, so it's not just -- I just want to make clear it is not strictly visual --


MR. GARNER:  No, I understand.

MR. JESUS:  -- visual inspections which you highlighted --


MR. GARNER:  I want to keep to my hour, and I do understand that.  I am just trying to -- I’m just trying to say it goes everywhere from visual right down to detailed inspection, and that is what you're saying, depending okay the asset.

They lend themselves to different ways of finding  their condition, right?

To take your example, we talked about conductors a lot.  Ms. Jablonsky talked about helicopter review of that.  So let's just take that, to use your example.

So in a helicopter inspection, you've got an aircraft moving about what?  A hundred and fifty miles or more flying over that piece of asset, right?  So there’s two ways to do that inspection.  I don't know if it is all visual or if you do thermal.  You may do a thermal review as you go over the same thing.

So maybe I will just ask you.  When you do a helicopter inspection, is that a visual, or is that a visual and thermal?  Or it depends on what you're doing?

MR. JESUS:  It is a visual looking for defects on that circuit.

MR. GARNER:  So it’s all visual, it’s not a thermal -- as I understand it, there is such a thing as thermal where you actually -- you take a look and see if you can find hot spots along the --

MR. JESUS:  That's a different test.  But suffice to say from a helicopter patrol, it's strictly driving the maintenance associated with that line.  So if there's something, an anomaly or something wrong with the line that we need to go and repair, it will drive that repair.

A condition assessment is for determining end of life associated with those assets.

MR. GARNER:  Right.  So I think we're agreeing in the sense that when you're doing a transformer, you have a very detailed scientific test, dissolved gas.  It gives you a very good, accurate result.  It’s a very approachable way to understand that asset.

When you are doing conductors, you have a different type of asset condition assessment.  In this case, it is fly-by and visual.

And as I understand it, you're saying thermal is not part of that sort of thing, or -- you're shaking your head so you can correct me?

MR. JESUS:  That's correct, because on the conductors, it's not a fly by.  We actually take the sample or we use this new technology called LineVue, which will actually determine the tensile strength of the conductor, the ductility, et cetera.

So just so we're making sure we're keeping them separate.  The helicopter patrol we need to patrol our lines to make sure that all of the assets are intact.  That's for driving maintenance.

The conductor sampling and the LineVue is a different test that determines the condition of the conductor.

MR. GARNER:  Thank you, Mr. Jesus, that is very useful.  So you're making that distinction, the helicopter fly-by does not go input data into your condition assessment.  It is just a maintenance concept, is what you're saying.

And now what you're saying there for conductors, you're doing a sample testing.  You have, would you say, 29,000 kilometres of conductors.  You don't have a guy or a woman running with one of those little things that goes all along the wire and is actually testing everything.

You're doing some sort of sampling, aren't you?  Is that correct?

MR. JESUS:  That's correct.

MR. GARNER:  All I am saying for condition, it depends on the asset, right.  They lend themselves to things. So I think we can agree.

Let's go to demographics, because that one actually confused me as this discussion went on.  Because when I first heard you talk about demographics, that's your next item, I thought about vintage or age.  But then I realized as I read that, and went back and read it after you were explaining this, and in fact you have a second thing in that demographic and that's something else; it is like manufacture.  So you include that in there.

So I took that from that you not only look at an asset by its vintage, a transformer from 1960, you also add to that, well, it's made by XYZ company who makes a lousier product, so to speak, let’s say than ZY company.  And that goes into your input of the condition of the asset.  Is that wrong, or ...

MR. JESUS:  It goes into the demographics factor, so the factor in terms of its age, when it was installed, the manufacturer, the model number, that effectively is what we're talking about demographics.

MR. GARNER:  So that's what we're talking about demographics.

Now, criticality, which is your next one, that's the concept, as I understand from reading it, of the impact of the failure of the item.

So if it's going to have a wide impact versus whether it, for instance, it can be isolated quickly and has, let's say, a very low impact.  So you do some sort of -- on that asset, some sort of criticality assessment.  That's how that works?

MR. JESUS:  The criticality is being driven by the customers it is supplying, the amount of load it is supplying.  It does not take into account the safety, as I indicated previously, safety, health safety and environment and obsolescence are not part of the asset analytics tool.

MR. GARNER:  Okay.  So I didn't understand.  That's very helpful, because I was going to ask that.

And maybe while I am at this, maybe I should ask that here, because I had that as a question, is safety included.  You say it's not.

MR. JESUS:  Sorry, I just --

MR. GARNER:  Safety comes in later, right.  I'm not saying it's not; sorry, pardon me.  Maybe we will get to later in a minute, but that is very helpful.  It's not here.

Then the next one you have is performance.  And that's basically, I guess, an assessment of how the asset performs.  So if you have a maintenance record of the asset being disabled at certain times, you realize the asset tends to not be reliable and needs to be put up in the ranking, so to speak?

MR. JESUS:  Correct.  That's the number of failures that the asset has been experiencing.

MR. GARNER:  And then utilization.  Help me a little bit with the one on utilization, and can you help me,
why -- it's different than criticality, right?

Utilization is the other one that you have here, and I took utilization to mean -- correct me, if I'm wrong -- the wear and tear on the asset.  It has a lot of -- this transformer has a lot of load on it, that transformer doesn't have much load on it at all.  Is that it, roughly speaking?

MR. JESUS:  It varies by asset.  So you're correct in assuming that for a transformer, it is based on the load being supplied from a transformer.

For a breaker, it would actually be the counter readings, which would determine the wear and tear on the breakers.  So there is a number of factors that we're considering from a utilization point of view.

MR. GARNER:  Okay, thank you.  Now, when I talked about -- and you corrected me about ESL, which I was saying was estimated service life and you were saying, no, it is expected service life.

When I look at the expected service life -- if I have that right, do I?

MR. JESUS:  ESL is the expected service life.

MR. GARNER:  As opposed to an EOL, and just before I start this, if I am going to distinguish EOL and ESL, I like to use the term is -- the expected service life is how long I am going to be working and then retire, and the EOL is when I am dead, right?  I mean, that is the end of life,  right?  And they're hopefully very different things, right?

MR. JESUS:  No, that's not correct.

[Laughter]

MR. GARNER:  It's not correct because --

MR. JESUS:  Although I am Jesus, I can't actually determine when you're going to pass on.

[Laughter]

MR. JESUS:  I just want to highlight the difference that from an expected service life, it is at a population perspective.  It is the average life of that population, the expected service life of that population of assets.

The end of life is absolutely as you indicate, when you are dead.

MR. GARNER:  Right.  Thank you.  And you're going to keep correcting me, because we're going to keep doing this and that's going to be helpful to me at least, because it really helps me understand how you're doing your assessment and we will see that a little bit as we go on.

But I want to just finish this part by asking -- so when I looked at each one of those aspects we just went through, and we will go to the expected service life that you just spoke about, this is probably where I may have misunderstood.

First of all, just to get to the expected service life, it seems to me that you could do that with the condition, right.  But you could also do that with the performance, which is the historical performance of an asset.

So to understand the expected life of something, let's say a transformer, I could, you know, as you say look at its age and I could look at the tests.  But I could also look at the performance, right, because those two things tell me one thing, but its performance is telling me another thing, and all of them feed into how long I expect that asset to exist, don't they?

So my real question is are those all part of the condition assessment, or are those something else?

MR. JESUS:  So two things, again.  So from an expected service life, we need to be differentiating these two.   It's giving us a view to what's happening on the system associated with our assets from a population point of view.  How long can we expect transformers to survive?

It's not telling me anything specific to any individual asset.  The specifics to any individual asset are being highlighted as you have here, which is the performance, all of these factors that we just went through.

So we are capturing that specific information, which will help us to inform the end of life of that particular asset.

But the condition, the performance, the obsolescence, all of that is helping to determine what the end of life for each specific asset is.

MR. GARNER:  Okay.  You may have to help me a bit more here, because I think I still have the same question.

I think I understand the distinction you are making about population.  But conceptually, maybe not what you're doing, conceptually if you have 100 assets of transformers, right, and you're still trying to find the expected life of that population, you can do it one way.  You can do it by dissolved gas in all those assets or you can do it by dissolved gas and the performance of each one of those assets and aggregate it up to give you that same expected life.

So you can input the same sets of data on a population basis.  I just want to know whether you do it that way or the other aspects -- condition is a very different thing, it is just this testing thing, or whether performance, for instance, informs the expected life.

MR. JESUS:  I guess where I am being confused, and maybe it is confusing you, you keep using the word "expected service life".  You keep saying that, determining an asset for the expected service life.

It has really no bearing on whether or not that asset is being replaced.  Obviously, just like your car, if it's ten years old and it is starting to fail, so the performance information is starting to come in, the car is ten years old.  You now need to replace the engine because the mechanic told you, are you going to invest in building that engine or are you going to replace the car?  So we would -- effectively, we're managing the population in that regard.

The expected service life of those cars is generally seven to eight years on a population perspective, but the life specific to that car is based on the service records, it is based on the condition of the car, and when we're going to need to replace it.

MR. GARNER:  Okay.  So I am glad you brought up cars first.  So -- because what my next step was, and at
tab 2 -- and I know -- and I have been informed you were not the fleet people, but I not interested in the fleet thing, and I did bring up the cars -- or the trucks in this case, right, because I was confused, and I thought, well, maybe if I use an example -- and I think I still have the same question, but maybe if I use that example you could walk through with me and show me kind of how this all works.

So I just put this thing to show. there is the car program.  It is not a particularly material part of your capital budget, and I don't really want to talk about the dollars.  That is not really my interest.

But, you know, I brought a picture, which is not in evidence, and it is from the Internet.  I actually didn't take this, so let's -- you can challenge me, but it looks like a Hydro One truck there.  It has got a number on it and that.  And it's parked next to a similar truck which may or may not be a Hydro truck.

So I just took -- I said, okay, look at this, and then if you look above on tab 2 at page 11 you will see you have your average age, ESL of the total fleet and whatever.  So this kind of said, okay, so let me take a look at how this is done by this truck.  And you will see here -- I am going to just suggest to you -- maybe I am wrong -- it's a nice truck.  I particularly like the running boards you have got on it.  And, you know, I said to myself, okay, so is this like -- let's say it is the light vehicle.  I don't know if it is.  It is a two-and-a-half-tonne or half-tonne truck, right, so it is a light vehicle.

So you see it says ESL of six years.  So let's use -- as you were explaining here.  And it's got an average age of four years.  So you could make a transformer for this.  So first of all, the average age and the ESL age, can you tell me what would be the difference conceptually for an asset looking at those two things, what's the difference in those two things?

MR. JESUS:  I think from a transport -- if you want to use that analogy, I think it is best to talk to Robert Berardi with respect to those trucks --


MR. GARNER:  You need a transformer.

MR. JESUS:  Okay --


MR. GARNER:  You have an ESL for a transformer, the average age for a transformer?

MR. JESUS:  The average age varies between 40 to 60 years for a transformer.

MR. GARNER:  Okay.  So -- and you wouldn't know why for vehicles they just have a singular number and you have a range number?

MR. JESUS:  So when I mentioned I was talking high level just what I know from a vehicle, Robert Berardi is the expert from transport and work equipment, and he would be --


MR. GARNER:  I don't care --


MR. JESUS:  -- better to ask these questions --


MR. GARNER:  I don't care about trucks.  I mean,
let -- we can use transformers, and I expect there is a table someplace doing the same thing, maybe there isn't, with transformers, in your evidence.  If you want to bring it up you can use that table.

MR. JESUS:  Sure --


MR. GARNER:  We can do the same thing with a thing on a transformer.  It doesn't matter to me.  Maybe that is more -- something that you are more familiar with.  I'm happy to --


MR. JESUS:  TSP 2.2, page 7.

MR. GARNER:  I just have -- I am no engineer.  Trucks I understand.  I don't understand transformers.  So you can go through it in the same sort of thing.

So on the 500 kV we have an average age of seven years and an expected service life of 40 years, right?

So now help me here.  The average age and the expected service life age.

MR. JESUS:  It's the fleet of the 500 kV transformers that we have.  The average age is seven years old for the entire fleet.  And the expected life of that fleet is 40 years --


MR. GARNER:  Now --


MR. JESUS:  -- so each transformer is expected to live to 40 years old.

MR. GARNER:  So what you're -- so -- okay.  So now let's go back to the example I was saying about performance and condition assessment.

MR. JESUS:  Sure.

MR. GARNER:  When you were doing the population of that to get to that ESL number, did you aggregate the data on the performance of all of those transformers?  Not just the gas testing, but was that also an input into getting to that number?

MR. JESUS:  So performance has nothing to do when determining the expected service life.  It is strictly the removal of the assets.  You need to consider two things:  The removal of the assets, so the -- when they're failing and when you are removing the assets, as well as something called suspensions, the assets that are currently in the population that have survived to those various ages.

So this is a statistical analysis across all the assets, whether they're out of life -- i.e., they're -- been replaced for whatever reason -- and the assets that are still currently in the system.

It is a survival statistical analysis that this table that we have in front of us is not going to help us determine what the expected service life of the fleet is.  You need to go through that analysis, and performance from a failure, you know, repair, replace, has no bearing on that, in that obviously at some point in time you're going to need to replace the asset.

MR. GARNER:  Okay, that is helpful.  So let's go through the list looking at that.  So this is the list of your asset, you know, the risk assessment criticalities.

So demographics.  Is demographics informative of that number at all?

MR. JESUS:  As I explained, the demographics is absolutely important, because we need to consider the assets that are currently in-service from a population perspective, as well as -- and what age they're currently surviving to.  All of that would be taken into account.

So these are sophisticated statistical analysis that require statisticians to be doing.

MR. GARNER:  I am sure they are.  So what I am going back to the list -- I am just checking off and I'm saying, okay, when I am doing my ESL I should be looking at your condition part, your demographic part.  Criticality, I would take it, isn't part of that exercise of condition assessment -- of making that number appear?  Criticality doesn't enter into that formula?  At this stage.  It enters maybe later, but at this stage it doesn't enter into it?

MR. BRODIE:  I think, Mr. Garner, just as a point of clarification -- and, you know, actually, I will use us in this room.  I think it would be a great example of this.

If you take the population of us sitting here in this hearing room today, in terms of, the ESL would be the average expected -- the life expectancy of the average male or female, right?  So that is a fixed number on a fleet level.  So in case of all of us here there is an expected life that statistically --


MR. GARNER:  I think I understand the population concept.  I am not sure --


MR. BRODIE:  Right.

MR. GARNER:  -- you're understanding what I am doing right now.

MR. BRODIE:  Okay.

MR. GARNER:  I am taking you back to your list at the ARA and I am trying to understand only one simple thing at this point in time.

I am trying to understand how each one of those items is or is not part of the calculation.  I understand it is a population calculation in that ESL.  That is all I am trying to understand at this point.

So I have understood condition is part of it, demographics is part of it, criticality and -- performance I understand is not part -- at this stage of that calculation.

Is it or isn't it?  That is a really simple question.

MR. JESUS:  Sorry, you want to understand how expected service life is determined?  Is that for -- at a population?

MR. GARNER:  I will give you the question again.  I want to link back your ARA items, condition, demographic, criticality, performance, utilization, back to your calculation of ESL, and I am asking you only a simple question:  As you go through -- I go through each one of those, does that input into that calculation?  And what I have heard is condition definitely does.  Demographics definitely does.  Performance definitely doesn't go into that ESL.  It may come up later as part of your Copperleaf or whatever, but it doesn't at that point make up part of the ESL calculation.

MR. JESUS:  Mr. Garner, again, just to clarify.  Honestly, expected service life -- you keep referring to ESL as the expected service life.  And when you say that we're thinking population.  If --


MR. GARNER:  I --


MR. JESUS:  -- you want to determine what is the end of life for that transformer, then we need to say end of life.

If you're asking me when do I determine end of life for that particular asset, let's talk -- then your questions are correct.

MR. GARNER:  I want to talk about ESL. I will stop using the word, if it helps you.  But ESL is a population of assets, right?

So I am just trying to figure out for the population of assets, in this case 500 kV, you have a ESL of 40, right?  And I am just trying to say -- and I understand that's based on a condition assessment.  Dissolved gas, I think, is part of the condition assessment.  Is that how it is resolved for all of them, or not?

[Witness panel confers]

MR. JESUS:  Again, I will suggest to you, Mr. Garner, that ESL is -- the factors that you are rhyming off at this point in time have nothing to do with ESL.

The things that are driving ESL are the survival of our fleet of assets for that demographic -- for that demographic of assets, i.e. breakers, transformers.

MR. GARNER:  How did you calculate the survival of 40 years?

MR. JESUS:  So two things go into that survival of 40 years.  The manufacturer gives us what the expected life of that particular asset is.

Number two, the population of transformers, of conductors, as I indicated, is a statistical analysis of the current survival rates that we currently have in the system, as well as the ones that have failed and have been removed.  That's the only thing that goes into determining expected service life.

MR. GARNER:  So for each one of the assets, there's a singular -- in this case, dissolved gas at all for this asset, you're telling me it was -- I just heard it was manufacturer's expected -- their expected life of that category of assets.

Is that what -- you're saying that is all that went into the transformers?

MR. JESUS:  So the dissolved gas analysis is helping to determine the end of life of that asset, not the expected service life.

MR. GARNER:  That's fine.  So you're saying that is not part of it.  So the only thing -- let's stick with transformers; let's just stick with one example.

For transformers, the only thing that went into that calculation of 40 years so far I have heard is the manufacturer's recommendation on what the expected life of that is.  That's what I have heard so far.

MR. JESUS:  No, no, that is not what you have heard.

MR. GARNER:  Tell me what is in the --


MR. JESUS:  What you have heard is the manufacturer recommends an expected life.  Obviously, when we buy the piece of equipment, they give us an expected life, number one.

But number two, more importantly -- more importantly, it is determined based on the survival of the assets that we have currently in the system, as well as the ones that have failed, to determine the mortality rate of those assets, the survival of those assets.

MR. GARNER:  How did you determine the survival of those assets?

MR. JESUS:  Through a statistical analysis.

MR. GARNER:  And the analysis -- statistics needs data.  What data did you use to do that analysis?

MR. JESUS:  The current population that we have in the system of those assets, the current age.  So every year the assets survives, that would go into the statistical analysis that EPRI did, or Dr. White did for us, as well as the removals from the system.

That is the only data that was used to help determine what the expected service life is.

MR. GARNER:  So age, as I have just say it back to you, was the only data piece used with 500 kV transformers?  Age was the determinative factor.  Because I've heard there is a population of 500 transformers and you used their age, and then basically when they are removed from service, and that created the number 40.  Is there something else that I --


MR. JESUS:  You have to take into account how many years each transformer is surviving.  And when you --


MR. GARNER:  Age, yes, you took it out.

MR. JESUS:  It is a statistical analysis.  It is a survival analysis that is being carried out.  It is not just -- it's not just the age.

So you have to go back and you'd say, okay, the current age of the transformer is 40 years old.  It lasted when it was one, it lasted when it was two, it lasted when it was three, and it died when it was 45, or whatever the case may be.

The analysis takes that into account in determining what the expected life of that asset is.

MR. GARNER:  Well, I understand.  Mr. Jesus, all I am asking is a simple question, which is for the statistical analysis, you basically have a population, which is the transformer, and then you need variables and the variable I have heard you've got is age, and then the next variable I have heard you've got is when it is withdrawn from service.

I am just asking --


MR. KEIZER:  Mr. Garner, I think there is an example, I think, on the record.  And maybe the witnesses can correct me, if I am wrong.  But we have the EPRI reports that deal with the change in the expected service life, for example of conductors, where that analysis was carried out.

I think it does exist in the evidence and there would be able to demonstrate to you the nature of the analysis that were done, and the nature of the data that was included with that analysis.

But that example of that is on the record.

MR. GARNER:  That's fine.  I can move on.  Let's move on now to conductors.

So in conductors, we have maybe a similar concept.  And as I understand it, with conductors you have the population.  And then, as I understand it, then you have a piece of data based on testing.

And then you run the same sort of analysis and you say based on this type of analysis, that's how I get an ESL.

Have I got that roughly right?

MR. JESUS:  No.

MR. GARNER:  No?  So conductors is not the testing data that you run …

MR. JESUS:  You referred to testing.  There is no testing that is being done to determine ESL.

The death -- the death of the unit is what goes into determining ESL. The survival of current population is what goes in to determining ESL. There is no testing.

So the fact of the matter -- you know, back to the example of men have an expected age of 72 and women -- I don't know the numbers, okay.

[Laughter]

MR. JESUS:  I don't know the numbers exactly.

MR. GARNER:  You don't want to go there.

MR. JESUS:  I am going to go there, because what you don't see is, okay, the blood samples and everything else.  No, they died when they were 72, or they died when they were eighty.  That's all that's going into determining the age of the expected survival of men and women.  That's it.

MR. GARNER:  So for conductors, what you're saying to me is it's not any testing data.  It is when the conductor fails, and that sort of database of failing conductors that creates the ESL, right?

MR. JESUS:  Failing databases as well as the survival of the existing population.

MR. GARNER:  Okay.  That's fine, thank you.  I think I can move on from there, thank you.

So once you get this number, this thing, right, then as I understand it, you take -- I think is Copperleaf.  Maybe you can correct me.  You take an analytical piece of software and then you input other things into this in order to move you along your path to building a capital budget plan.

Is that how it works, where you move -- let's go back to your list of ARA.  You move some of these other issues like criticality and performance and utilization.  Where do those fit in, now that we have beat to death the ESL concept?

MR. BRODIE:  Sure.  Mr. Garner, if I could just pull up on the screen here -- could we please have TSP section 1.1, page 39?

MR. GARNER:  Sure.

MR. BRODIE:  I will take a moment to kind of walk you through the overall process.  And if you have any questions, please stop me and let me know.

So with regards to sort of the six asset analytic risk factors that we were just talking about previously -- demographics, condition, performance, economics, utilization, criticality -- as you can see, figure 9 on page 39 of TSP section 1.1 lays out our overarching asset risk assessment process.

And so those six risk indices that we've just spent some time discussing inform one part of the overall asset risk assessment process.  So with respect to those six indices, we do calculate through our asset analytic system a quantitative value based on the age in terms of demographics, the condition based on the results of the samples that we get back from our dissolved gas analysis, et cetera, by asset type.

And that forms simply one part of the asset information that ultimately our planners use to identify the assets for inclusion in our overall capital plan.

MR. GARNER:  Mr. Brodie, can I just stop you for a minute.

MR. BRODIE:  Sure.

MR. GARNER:  So the information on, let's say, criticality, let's just use that as an example, your analytics system, criticality is an impact of failure and that, and I guess that has to have a set of data, as you said.  You need to know something.

MR. BRODIE:  Correct.

MR. GARNER:  That data exists where?  Like, where do you keep that data?  Is that...

MR. BRODIE:  That data would exist within our enterprise databases, so ultimately our asset analytic system.

MR. GARNER:  Okay.  And is that data then put into Copperleaf in order to create the analytical analysis that you are talking about?

MR. BRODIE:  That's where I just wanted to make sure that we have a clear understanding in terms of what happens in the prioritization in our Copperleaf system versus the actual asset risk assessment process, because they are two disparate processes, and I just want to make sure that we're talking the same language and we're clear.

MR. GARNER:  Yes.

MR. BRODIE:  So in terms of that criticality information, the demographic condition information is ultimately part of the data set that our planners use to assess the individual assets, to ensure -- or to ultimately put them forth as a candidate investment for inclusion in our overall investment plan.

So our planners are looking at the data sets that make that up.  In addition, as you can see here, there is the environmental, obsolescence, health and safety risks, as Mr. Jesus alluded to, that are not part of the asset analytics software package that we have, as well as the field input, any event investigations that have happened that have arisen from significant failures or significant outage events, as well as any operating information which refers to if we run into constraints when we're interfacing with customers in terms of operating the system.

MR. GARNER:  Okay.  Let me just stop you and move on.  Some of this data that we're talking about, criticality and let's say performance, it is very concrete, so to speak, you know, performance and assets failing are not -- as I understand is in your enterprise system, you're collecting data on that.  That is very concrete, right?

MR. BRODIE:  Correct.

MR. GARNER:  And so that's -- when I look at Copperleaf, for instance, I think in my mind, well, that concrete data is filtering into that and making concrete number results, because it's numerical or it's very objective.  Do you know what I mean?

MR. BRODIE:  Correct, yes.

MR. GARNER:  That is Copperleaf.  So now I want to take you to something else, and we talked about this yesterday.  If I could ask you to bring up tab 8.

MR. BRODIE:  Sorry, one second, Mr. Garner.  Just to ensure that you have got the right correction here, in terms of, we have the concrete data in our asset analytic system, which ultimately informs the determination of end of life of the assets.

When we get into the overall investment planning process, which is documented in TSP 2.1, that's where the Copperleaf analysis and the risk analysis takes place, and they are two disparate processes.  I just want to make sure that we're clear on that.

MR. GARNER:  Well, I wasn't, and so thank you, Mr. Brodie.

So we kind of -- as I said, we kind of went over ESL, but now the other ideas of criticality and performance, utilization, which are very, what I call concrete or, as I understand it, data-driven concepts within your company, that data, is it -- it's not feeding into the ESL, it's feeding into something else that creates an objective figure, call it.

What does that exist as?  If I were looking at transformers, we have gone through ESL, but now I am looking at, okay, criticality, the performance utilization for that either population or single asset, whichever way you want to observe the problem, where does that -- how does that exist in the evidence, let's say?  How is it shown up in the evidence?

MR. JESUS:  It is showing up as part of the risk assessment.  So it is informing the risk assessment associated with the candidate investments that we have put forward.

MR. GARNER:  So Mr. Jesus, and that's good.  I am not trying to challenge that, so -- because I want to now -- maybe I should jump to the next thing, because I think this is where there is a little bit of confusion.  So those are very concrete outcomes, so if you go to the last tab, and there was a lot of discussion about this, and I did want to bring us -- tab 8.

I want to show you to -- it has got these two pictures at tab 8.  And if I can just bring it up.  The first one is in your evidence, and it is your fallen conductor on a high-voltage line.

And I just digress for one second.  When a conductor like that falls, is it isolated quickly?  Like, can your system isolate that type of failure and identify its location either generally or specifically?

MR. JESUS:  Yes, that's correct.  Our protection systems are designed to identify anomalies in the system and to immediately isolate the electrical flow through that conductor to prevent someone getting --


MR. GARNER:  Yes, so --


MR. JESUS:  -- electrocuted.

MR. SPENCER:  Sorry, just to clarify a slight technical but relevant clarification.

The timing of this conductor being de-energized could vary on a number of factors, including, like, just a lot of engineering theory behind my simplified statements here, the proximity to the circuit breaker, how it is sensed, the magnitude of the fault.

It could fall in an energized state or a de-energized state when it hits the ground, a number of different factors.

What would likely send the problem signal to the relay which trips the breakers is when this hits the ground and there's a very large electrical fault.  That would be the trigger for the protections to tell the breaker to isolate it as quickly as possible.

MR. GARNER:  Thank you, Mr. Spencer, and I do understand.  It somewhat depends on the way the equipment is built and how fast the safety systems all move into place.

And I do understand.  Now, you had a lot of discussion yesterday about the safety need, and I wanted to actually agree with you.  You will go to the next photo.  I don't know if any of you know this neighbourhood, but not very far from us, this is a place called Flemingdon Park or Thorncliffe, depends on where.  It is not very far.

And outlined -- and this is from the Internet -- outlined is -- and I know them quite well -- a bunch of soccer fields.  And they sit underneath your -- and you can see your system, your one, two, three, newer lines and one old one if you look close enough by soccer field 3.  And you can see those things.

And my first thing is, while we're on the record, I mean, Thorncliffe Park is a low-income area, and that is my clients.  And I think they would say thank you, that's well appreciated.  And that is well utilized.

And I understand, and you made this point, there are up to 300 kids underneath that thing at some point in time, and you guys are very worried about that, and you have to make sure that system runs the best it can run, correct?  That's a very important piece of hardware for you guys.

MR. JESUS:  Agreed.

MR. GARNER:  And then -- and I appreciate that, as I said, and I think we appreciate it.  But there is a -- you have to admit there is a difference.

This one is very dangerous if it falls.  The other one -- I understand it is dangerous, but it is more hit a moose than hit a person.

And when you are doing your assessments, that kind of -- you know, it's kind of subjective, you know, it is very hard to pull that out as a piece of failure rate and that.  Tell me where that fits into the analysis that you are doing.  Can you --


MR. JESUS:  Sure.  So can we actually pull up the actual Internet picture of this, please?

So as you alluded to, there are enormous -- if we zoom in, there is a number of buses there and everything else, soccer fields, and this is a high-priority corridor for sure.  And you can see that all of the conductors are supplying the Greater Toronto Area between Cherrywood, which connects nuclear power at Pickering, and it connects it to Richview, which is a major hub for that power to the downtown Toronto --


MR. GARNER:  And maybe Leaside too.  Does it go into Leaside?

MR. JESUS:  And Leaside.  So there is a number -- there is eight circuits on this corridor.  It is joint use, which means there is a lot of people on this corridor, and many of our corridors are in fact being leveraged for that purpose.

Our corridors are also -- they use them -- you know, there are sign -- although there are signs, no trespassing, people still walk the dogs, they're walking through our corridors.  Whether or not it is up in moose land, there is still the opportunity for someone to get injured, because they will be there and a conductor will potentially kill someone.

And the value of that life, I can't tell you what that value is, but at the end of the day we're assessing for these conductors failing, that potentially there could be a fatality.

MR. GARNER:  But what I am really trying to get at is that -- and I do understand both of those points of view -- is -- or maybe I am asking the question -- is, is there no distinction being made in, when you are doing your risk assessment, between picture 1 and picture 2?  Because they do seem to me to be clearly distinguishable in their risks, right.  So I am just asking, does that factor in?

MR. JESUS:  It does.  So in this example, there would be -- the likely would be the major fatality, so it would be number 7 on our taxonomies that we said multiple fatalities.

On the other one, it would be one fatality; we would lower it by one notch.

The probability of that event occurring would then be taken into account by the condition of that asset.

MR. GARNER:  Right.  So the only thing I am really trying to highlight here -- and I think you would agree -- is that that type of analysis is a bit more subjective, in the sense that it's not data-driven as much, I mean not as -- when comparing it to, let's say, performance where your asset, you have a database on the asset.

I mean, I'm drawing the fact that these two are quite clearly obvious.  But somewhere in between, it gets greyer and greyer, if you know what I mean, and it gets more difficult to make those type of assessments.

MR. JESUS:  I disagree with that, in that when the conductor has lost its strength, its engineering design strength, and it is not four turns and 85 percent tensile strength, there is no grey area.  It is in a high-risk situation and it needs to be replaced.

A transformer that has high dissolved gas analysis or the windings, or the high furan level, that means that the insulation associated with those transformers are no longer able to perform their duty.  And it doesn't matter if we actually try to extend its life, the actual insulation of those windings is not going to endure the extension of life.

So it is based on scientific analysis that says no -- that says, we need to replace.  There is no subjectivity here.

MR. SPENCER:  And if I may, sir, there is also -- we have spoken a lot about safety, which is a critical factor, I am sure we would all agree.  There is a reliability dimension as well and others.

So in this figure 4 on your compendium on page 8, that's a -- those are four 500 kV circuits.  The 500 kV network is the backbone of the electricity system in Ontario, and it has electrical interconnection through other jurisdictions as well.

A failure on this system, on the 500 kV system, would have impact on market operations.  It could potentially have an impact on customers that would be shaken off through sympathetic load loss.  And a conductor failure on the 500 kV system we would rate as a very high consequence, associated criticality associated with the circuits and these towers and these insulators, et cetera, would therefore be higher on a relative scale to something that didn't have such an impact.

The 230 kV circuit picture we pulled up here from Flemingdon Park, that is on the Cherrywood by Leaside Corridor, that is one of the two most critical supply points into the City of Toronto.

We would characterize that differently than we would to -- not to pick on Belleville, but to supply to Belleville perhaps.

MR. GARNER:  Thank you, I think that is the point.  So I am going to move on, because I would like to try to keep this on time here, and move on to a different topic altogether.

There was a lot of discussion about conductors.  80-, 90-year conductors and whatever.

But the problem I am trying to understand with conductors is when we're discussing them, we sound like and you sound like we're talking about conductors.  I don't know the transmission business that well.  I don't know any of these businesses that well.  But I have a lot more experience in the distribution end of it.

My experience in the distribution end of it is that one seldom changes out conductors in and of themselves, because the conductors tend to be the longest piece of living asset.  And the other assets, especially poles -- I know you don't use as many wood poles, but poles insulators, they tend to degrade much quicker.

So when I go into your evidence in detail, I don't see so much about conductors, lines just being made.

I see more -- I use the example of, I think it's -- let me just see if I can find it.  It is the one in the Hamilton area.  I have it in my thing, if I can find my note for it.

You have a corridor replacement in Hamilton.  Do you remember what it is called?  Horning Mountain.


So I brought up Horning Mountain, and Horning Mountain is basically 33 towers, conductor -- it is the whole shebang, so to speak.

So just for clarification, when we talk about conductors, are we really talking about -- how much are we talking about utilizing current towers or hanging -- whatever it is hanging on versus actually just the conductor?  That's not how it is done usually, or is it?

MR. JESUS:  When the conductor is at end of life, that is the main driver for refurbishing a transmission line.

We have other programs to replace the one-off failures and the one-off poor conditions, such as the wood pole replacements, the insulators.

But we're not going to go in and refurbish the whole line if we're just replacing insulators, as you alluded to.

In the Horning Mountain junction that you have up on your screen, we will try to leverage the towers as much as we can.  So for example, I don't know if any of you live in the Etobicoke area, but similar to the Horning Mountain junction, we replaced all of the conductors to support the addition of Runnymede number 2 TS, which is an increasing capacity to Toronto-Hydro, where we reinforced the existing towers, because they were able to just be reinforced rather than ripping out all of the towers, and we strung brand new conductors to supply the Runnymede station.

So all of the conductors on those towers are brand new, with all brand new hardware, with the structures being reinforced.

So to answer your question, we leverage as much as the old as possible, but we do condition assessments when we're replacing it of each one of the structures to determine whether they need to be replaced.

MR. GARNER:  Can I ask you, would it be difficult for you to tell us, in all of the conductor projects that you've got in here, the proportion that is actually -- what you would call utilizing the existing hanging structure versus actually what I would call, you know, rebuilding the circuitry on it?

Is that a difficult thing?  Is that the way you look at the problem yourselves?  They seem to be quite different types of projects.

MR. SPENCER:  So generally speaking, we would utilize the existing, you know, tower structures for these refurbishment projects generally.

We do -- and I am glad we're focussing on projects, because it just kind of reiterates some of the conversation from yesterday, that projects are unique and different from one to the next, and you can tell by both expenditure and accomplishment that these are -- there's a variety of solutions here to address the underlying needs.

The majority of the time, we utilize the existing structures.  If we had -- and this is a bit of a hypothetical project based on a review we did a few months ago.  There was in the order of 100 towers that were on this transmission line, and there were a few locations along the tower -- like I'm thinking in the order of three, or four, or five towers where, because of an issue of access, or clearance, or updating to current standards, we were unable to utilize the existing steel.

However, we utilized the existing foundations.  We retrofitted a new modern-day tower to fit with those existing foundations and so in that example, approximately 95 of the existing towers were able to be reutilized with a small subset that had to be functionally replaced.

We often make modifications to the towers. A lattice  tower, like some of these we're looking at here, they have hundreds of pieces of steel.  There is an engineering analysis that would upgrade some of those if required to meet current requirements.

But typically speaking, we utilize the existing towers.

MR. GARNER:  That's where I want to just get to.  I don't need an undertaking, if what you're saying to me
is -- because I seem to seem to be misinformed.

I would have thought mostly it is circuitry in whole being replaced, and you're saying no, it is the opposite.  It is usually the structures are staying in place and the new conduit or new stuff is going in.

So if that is answer, that's the answer.

MR. JESUS:  I think it depends, it depends.

MR. SPENCER:  It is case-by-case.

MR. GARNER:  Let me get to the question, because I don't want to spend too much I'm on this.

All I am trying to ascertain is the difference between rebuilding, and that is part of the conductor body of work, and restringing, so to speak, and that's the body of work. Give me the sensibility to that.

MR. SPENCER:  As Mr. Jesus alluded to, I would call it the anchor for every one of these investments is the conductor condition itself.  That's what takes us to there.

And then with that as the starting focal point of the Project, we're also of course looking at components like insulator and hardware and the towers and the sky wire and the foundations.  We're looking at that trans line as an entire assembly of components, driven primarily by the conductor.

MR. GARNER:  Can you answer the question?

MR. SPENCER:  I am trying to.  So we are replacing the conductor.

MR. GARNER:  I understand that.  The proportion is all I am looking for.

MR. SPENCER:  We are also making other enhancements.  So to talk about how much of the cost on this project is the conductor versus the nut versus the bolt.

MR. GARNER:  I am not looking for the cost.  I am actually just looking on -- you have got a lot of projects.  I am just trying to say, is like, how many of -- do you know how many of these are using existing structure and how many of these are based on projects where you are rebuilding the corridor?  That's the -- it is a simple question.

MR. JESUS:  No, we do not know.  We do not know.

MR. SPENCER:  Sitting here we do not know.

MR. GARNER:  You don't know the proportion.  You don't have any sensibility to the size of those two different --

MR. SPENCER:  The vast majority of the existing structures will be utilized --

MR. GARNER:  That's all I was looking for.  And if you're saying that's the answer, I was just trying to -- or the question I was -- that's fine.  Thank you.  That's all I was going -- so let's go to the next thing I want to talk about on a specific project, and I am just going to ask you, again, it is to clarify something.  Lakehead TS Nipigon is in -- on page 21 of my thing here.  And the only reason I ask about Lakehead Nipigon is for a different kind of reason.

You're aware -- you are obviously aware of the Wasaga -- and it is called the Wasaga transmission -- it is not a project yet, but you are investigating it as a project.  You have a variance account from the Board, right?

So one of the things I was wondering about is, when I see these projects that close into those types of -- that one, for instance, use an example, and Mr. Jesus, I heard you talk about this yesterday, is when you rebuild -- we're talking about the rebuild ones -- you rebuild the circuitry, you also work to anticipate if there is load growth or something, you know, like that.  You look to the future, not to the past.

So when I look at Lakehead TS and Nipigon, it is a fair amount of money.  Would a project like that be anticipating the Wasagan corridor being built?

MR. BRODIE:  Fundamentally as part of our capital planning process we do make considerations for any upcoming future projects.

So in short, there would be considerations made.  With regards to that specific project, I don't know off the top of my head, but fundamentally we're ensuring that we are integrated between any sort of bulk expansion plans with our -- ultimately our system renewal sustainment plans.

MR. GARNER:  Can I ask you to do -- if you can do this, because it is very specific.  You have a variance account for the Wasagan corridor from the Board.

It seems to me it is of interest to me and my client, is if that project or any projects that are on this list are also being enhanced for the potential for that project, the argument could be made they should be in the variance account.

And so I would like to know whether that is the case for any of these projects.

MR. SPENCER:  So these investments we're looking here, they're all system renewals.  They are upgrades and capital investments on existing infrastructure.  The Wasagan project you're referring to, also known as the northwest bulk transmission as per the LTEP, is a proposed new facility yet to be built.

So we can confirm sitting here today that these costs to do this system renewal on existing assets are not affecting that potential forward-looking project for which the variance account has been established.

MR. GARNER:  So there is no enhancements being made on any of those projects in anticipation of the potential of a corridor being built up to the Dryden TS?

MR. SPENCER:  I guess we would have to take that back to ensure there's no enhancements.

MR. GARNER:  Would you do that?  Because I am interested if there are and if there are any costs associated with that.

MR. SPENCER:  We can do that via undertaking, yes.

MR. GARNER:  Thank you.

MR. SIDLOFSKY:  J4.3.
UNDERTAKING NO. J4.3:  TO ADVISE IF THERE ARE ENHANCEMENTS BEING MADE ON ANY PROJECTS IN ANTICIPATION OF THE POTENTIAL OF A CORRIDOR BEING BUILT UP TO THE DRYDEN TS.

MR. GARNER:  I am going to move on now to the next thing, which is reliability.  And you will see this at -- I am not sure of the tab.  I think it is tab 5 in my thing.

And the first thing you will see there is that -- and someone brought this to your attention before.  It is the NATF report and the -- and you are moving from 13 in line to 19 in line in that report.

And my first question to you is, the actual -- well, first of all, maybe to help the Board, could you explain who the NATF is?

MR. JESUS:  It's the North American Transmission Forum, so it is a consortium of transmitters across North America.

MR. GARNER:  And do you know what their mandate is?

MR. JESUS:  The mandate is really to share best practices, share information across all the transmitters.

So we frequently engage with them in doing peer reviews and in understanding what others are doing in the situation, and we would learn from them.

MR. GARNER:  Right, thank you, Mr. Jesus.  And so they have a lot of rankings in there, and I think a point was kind of being made about your ranking, but -- sorry, before I go into that, did you actually file the report?  You filed some of the data from the report.  Did you actually file the, in this application, the NATF report that you extracted your interrogatories from?

MR. JESUS:  No, we did not.  It is a confidential report that we're not allowed to share as part of our agreement with NATF.

MR. GARNER:  Thank you.  So -- but you did file -- and I think it is on my page 29 -- some extractions from that report.  And I think I have it right.  It is I-07-SEC-46, attachment 1, is at 29 of my stuff there.  Right?

And the -- again, the point here was people I think were making a point, and I have highlighted some stuff here, a point about, I think, that you seem to have declined in the order of other utilities.  I think that was being made.

But one of the things when I look at this table, when they do some of their analysis they don't particularly look at the differences in these utilities.  You're a very different transmitter than a lot of transmitters, aren't you?  You have an extremely broad northern Ontario area, and a lot of these work in the U.S., which is slightly more urban, and some of these don't really take that into account, do they?

MR. JESUS:  No, they do not.  But we have -- we have reduced the -- we have determined what our peers are by the 21 that you have shown there.

So we have narrowed down the comparison, if you will, to the 21 that best reflect Hydro One.  I can't tell you what those -- who they are, but...

MR. GARNER:  Right.  Okay.  And so you have things in here like -- you see the highlighted one about lightning strikes and scores and that.

And all I am trying to really understand -- and I didn't realize you used a subset -- used it out of the report -- you took a subset and showed that to the Board, not the whole report?

MR. JESUS:  There is no -- we cannot share the report, because --

MR. GARNER:  No, I am not asking you to share the report.  Of the 21 in here, is that all of the people?  Or you massaged a piece of data and put 21 together?  Isn't that --

MR. JESUS:  No.  So our peers, we've determined, and within NATF determined who the peer set comparison is, and only 21 of those utilities are comparables.

MR. GARNER:  I understand.  They put the report together, but you helped them find your best peers in doing so.  Thank you.

MR. JESUS:  That's correct.

MR. GARNER:  And so -- I mean, we can't see, because we can't see all of this, is -- but one of the differences in your -- versus these people will be the differences in the uniqueness of your utility versus their utility.  Right?

MR. JESUS:  I would imagine so.

MR. GARNER:  I just don't want to read too much into some of that, because I don't understand what is behind it, but let me move on to your actual SAIDI/SAIFI stuff, which is in the next graphs below.

And skip the momentary one and go -- the one on page 31.  That is the SAIFI interruption.

And the only thing I wanted to share and ask for your views on is, when I look at the SAIFI and always -- and look at these things generally, eyeballing it, what I would say is there is -- the most variation is occurring into the category of weather.  The least variation is occurring in the other aspects, but weather is basically moving more of this generally than other things, although in 2018 it seems to be "other" is a big difference, but generally speaking weather is your -- the biggest variable unknown.  Isn't that right?  For you as a SAIFI outcome.

MR. JESUS:  So for SAIFI, weather is the number-one contributor to our unreliability, and that has to do with the fact that we do have roughly 30 percent of -- 30, 40 percent of our delivery points being supplied from radial system.

So anytime you have a lightning strike or anything like that, you would probably be taking down those customers.

I will also say that from an NATF point of view part of the reason why you see us -- the way they're running all of those numbers, and from an outage point of view, they take every single outage into account irrespective of whether or not there is a customer interruption.

We don't tend to do that.  We like focusing in on when there is a customer interruption, then we will significantly look at it, if you will.

MR. GARNER:  Okay.  so let's just go to the next one, which is duration.  And this is the SAIDI, right?  And what's noticeable at least to me is the difference equipment starts to happen in duration versus in SAIFI.

So when I look at frequency, weather is my big thing. When I look at SAIDI, equipment seems to be my big thing.

Is that a fair read of what I am looking at in those two charts?

MR. JESUS:  I would suggest to you that from a SAIDI point of view, both equipment and weather are still major contributors to the SAIDI numbers.

MR. GARNER:  But for the duration, all I am asking --


MR. JESUS:  In year-end 2018, the equipment was a 39 percent contributor, whereas weather was 41 percent.  We're splitting hairs here, but they're both significant contributors.

MR. GARNER:  All I am suggesting is that if I look just at those two charts, equipment becomes a bigger issue when one examines the duration versus when one examines the frequency.

So that's when you really start to look and go, well, duration is a big item, whereas when you are looking at frequency, it tends to stay stable.  With duration, it can be a different animal, so to speak, for you.

MR. JESUS:  Our strategy is to prevent, minimize and restore.  So we want to prevent the outages from occurring in the first place, which is focussing in on the equipment, as well as any other considerations perspective, making sure that we address the equipment issue before it manifests into an outage.

So once the equipment -- once the outage has occurred, we then try to minimize the impact by isolating the faulted area, and then restoring quickly to our customers is the strategy.

MR. GARNER:  Of course it is.  But all I am simply saying is duration is a fairly significant issue when you come to SAIDI looking at your stuff.  And if you want to say it isn't, but it appears to be.

And what I was really talking about, when you look at that and you were looking at your capital asset plan, we talked about criticality and all of these other things, one of the things that when you're doing your capital plan and looking at criticality and you're looking at duration stuff, there's a trade-off if you only have a certain basket amount of money in redoing the asset, or addressing how fast you can repair and do an asset.

So let me just give you an example.  You can put in a new transformer, or you can keep a transformer on a truck ready to go as fast as you can.  Now, you do that probably anyways.

But how do you make that trade-off when you are doing your capital planning versus your operational planning?  Do you know what I mean?

[Witness panel confers]

MR. SPENCER:  So as Mr. Jesus spoke to, our primary objective is to prevent the failure or the interruption from occurring in the first place.  So that is a lot of our -- first I'll talk to capital planning and then operating planning.

But our capital planning is focussed on removing high-risk, poor condition assets from our system and predominantly, that is what our system renewal category is for.  That's the primary tactic to deal with that.

On our -- I am going to call it an operating planning to use your terminology, we put a lot of effort, as would most transmitters, into our outage planning, how we -- our control room procedures, how we execute maintenance, how we plan and schedule our preventive and corrective work, putting ourselves in a good posture from a system configuration perspective in coordination with the IESO,   taking customer input into account, there is an entire industry in our company and the Province of Ontario who is trying to minimize risk exposure for both outage occurring and then, if an outage does occur, ensuring that we can recall that as quickly as possible.

MR. GARNER:  So I am just asking this question.  If the Board is inclined to say that, you know, you can do with a little less, then you do have to have strategies, don't you?

So if you have to deal with your transformers, you will have to have a strategy among other things to, let's say, minimize any impact that has.  One of those impacts might be you need to figure out a way to reduce those durations, if you can't do things.

Will you do things like that?

MR. SPENCER:  We already do things like that.  Quite honestly, it is part of our regular planning of work and how we deal with just day-to-day maintenance and operations.  With an increase in capital, you know, we factor that into our outage planning considerations.

This is where we get into contingency for N minus 1 and N minus 2 configurations.  We look at all sorts of tactics -- not to go into depth, but all sort of tactics that we can quickly reduce the impact of an outage if it does occur.

Just to give a scale here, though, these are minutes.  So the tactics we're looking at, they range from everything on reducing outages from minutes out to hours.

And we put a lot of concerted effort into making sure that we have reduced that risk exposure before an outage occurs, not simply trying to prevent the outage, but ultimately, if it does, we can restore as quickly as possible.

MR. GARNER:  Mr. Jesus, I heard you yesterday -- and I could have misheard you -- talk about the fact that frequency was more important than duration.  Did I mishear you?  Do you recall saying something like that?

It could have been; it was a long day for both of us.

MR. JESUS:  Sorry, I referenced that in the respect of customer priorities.  Customers said frequency, to them, is more important than the duration of outages.

MR. GARNER:  You got that from the customer stuff that we're going to see another panel talk about?  Is that where you got that sensibility from?

MR. JESUS:  That's correct.

MR. GARNER:  Because that seems odd to me.  I have dealt with -- I don't know if you know a utility called Chapleau.  They are very reliant on your supply, and their sensibility seemed to be, when they went out for a long period of time up north without power, how they heat their homes, duration not frequency.  A few minutes isn't the problem.  But a few hours is a big problem.

MR. JESUS:  I guess it depends on whether you are talking with an industrial customer and you're getting frequent outages that could impact their plant and their operation.  But I guess, from a transformer point of view, just because you mentioned transformer outages and restoration, a replacement of a transformer will not be able to happen overnight, just so we're clear.

MR. GARNER:  For sure.

MR. JESUS:  If a transformer fails, such as the one incident in July of last year at Finch where there was massive fire and massive interruption to downtown Toronto, that is a massive undertaking that requires, you know, a year to restore back to its original state.

MR. GARNER:  Do you do what LDCs have done?  I heard LDCs do their own tap into you.  Some of them keep either an old or a new transformer spare on site.  Do you do that on some of your sites?

MR. SPENCER:  So in the transmission context, generally speaking, there are redundant transformers.  We do sometimes utilize mobile transformers.  We do sometimes utilize our inventory of operating spares.

If we're going in, if we're executing a project, sometimes we will install a third transformer while we're working on the two old, sick, dying ones, just in case something goes wrong.  So we do use that tactic.

Obviously we have 700-plus transformers in-service across the province.  We have a modest spare pool we use to support them.  But, yes, we do use that tactic when it's appropriate to have either mobile or permanently installed transformers.

MR. GARNER:  Thank you.  I am going to move on to a different topic, unless you want to add something else.

I am going to move on to tab 6, scorecard.  Now I am going to tell you, the Board asked that us intervenors work together to make things more efficient, and some of my colleagues always tell me this is why do you want to talk about scorecards?  It doesn't matter one bit.

And let me ask you.  Does it matter at all?  I don't mean matter to you like, oh, I didn't get the right score, but system reliability, you got some numbers down here.  You don't get those numbers the next time you come to the Board.  What does it matter?

MR. JESUS:  Of course it matters to us.  I mean we manage and monitor this on a regular basis.

It is on our corporate scorecard.  It is on our operation scorecard.  We're constantly looking at this and looking at ways --


MR. GARNER:  Mr. Jesus, do you lose money yourself personally on your salary if you don't meet your SAIFI target?

MR. JESUS:  Yes, we do.

MR. GARNER:  Is it a large proportion of that?

MR. JESUS:  Ms. Sabrin will be able to answer that question.  It is not a SAIFI target on the corporate scorecard, just to be clear.  It is a SAIDI target for both transmission and distribution.

MR. GARNER:  Let me ask you this, then.  Let me imagine a world where Ms. Jablonsky is the CEO and she is very-- knows all of this material and all of this stuff, and she says to you, "I am going to set your salary by the SAIFI number a hundred percent. You either meet that target or you don't meet that target. That's how you get paid.  Eight percent, you get eighty percent."

That's a pretty strong incentive is what I am saying.  That's not the kind of incentive the scorecard attracts, is it?

MR. KEIZER:  I think the witness already indicated that there's another panellist that can address the issue of compensation and incentives or disincentives relative to the scorecard.

MR. GARNER:  Okay.  Let me ask you this, then.  Why, from your point of view, why is SAIFI and SAIDI a better indicator on a scorecard than outages by equipment, since you can control equipment more than you can control the weather.  You would agree?

MR. JESUS:  Because SAIFI is impacting our customers.  So this is what our customers are seeing.

The fact that we have equipment outages, we do have some redundancy in the system to minimize the impact and we have the systems in place to minimize the impact.

Ultimately, we want to make sure that our customers, the service that we're delivering to them is continued to be delivered.

MR. GARNER:  Fair enough.  But you were going to spend an extraordinarily amount of larger amount of money than you have in the past on equipment.  And I don't see anything on this scorecard that says specifically I'm going to be judged on equipment.

MR. SPENCER:  So we spoke about this concept a little bit yesterday.  Equipment, performance/reliability, is a leading indicator to some of these other metrics.

System SAIDI, system SAIFI are looking at the total population in a lagging context.  Equipment, performance equipment condition, I dare to say the word equipment demographics, those are all potential leading indicators of things like system SAIDI, system SAIFI.

So we are managing reliability and risk on a number of different levels here.  If we only focused on equipment performance, we could be missing some other dimensions that impact SAIDI and SAIFI.

So our job, as Hydro One, is to take all of these factors into account, the ones that are within our control more or less and the ones that are beyond our control more or less.

And ultimately that is the customer experience that we're working to deliver in terms of reliable and effective power.

MR. GARNER:  Thank you, Mr. Spencer.  All metrics are in some sense imperfect, I suppose, but let me ask you, Mr. Spencer, you kind of bridge both worlds.  I have seen you in other proceedings.

In your rate -- and this may be a question for the other panel -- in your rate plan there is no adjustment to the revenue requirement if the equipment outages don't improve or don't change or anything.  There is no direct correlation between the capital budget you are putting into place and the revenue requirement, other than it is increasing it.  Nothing incents you through that, is there?

MR. SPENCER:  Not on a lagging basis.  But when we look forward to how -- in part I think the process here is for the Board members to get a sense of how are we managing risk, how are we delivering customer experience, how are we managing our costs, and everything that goes into running a utility.

So if we were to imprudently be managing our leading indicators like equipment performance and condition, et cetera, that could negatively impact our forward-looking opinion on our ability to be a strong steward with good utility practice.

We're constantly taking these things into account on how we conduct ourselves.  You know, we come to a regulatory proceeding like this, we look at it through a number of different angles.

But I would suggest that if our performance degraded in any area, safety, reliability, cost-effectiveness, that informs the Board's opinion on their opinion of Hydro One as a transmitter.  So it does affect how we perform.

MR. GARNER:  Thank you, Mr. Spencer.  I am going to move on to the second-last of my thing and try to be quick.  This is something I really do need help with, and I looked at this before, and I really look to Hydro One to help me.

It is on your scorecard.  This customer delivery point performance.  That is on your scorecard.  And I have struggled over time trying to really understand this -- first of all just understand it.

So could you give me the Coles note version of what does a customer delivery point performance measure?  And maybe to help me, let's just look at it on your scorecard then and try and use as your example you're moving around.  tell me what's good -- first of all, what is even better and what is worse, because I am not even sure I understand that.  Can someone help me on the panel to that?  Mr. Jesus?

MR. JESUS:  Can you be more specific?  What exactly are you looking for?  Which --


MR. GARNER:  Well, what am I measuring?  So see the customer delivery performance standard outliers as a preventative DPs?  So you see these numbers 9.5, 10.5.  What am I measuring with that metric?  Can you help me with that first?

MR. JESUS:  Certainly.  So the number of delivery point outliers, there is standards that have been -- that were filed and basically form the standards for delivery point performance that we comply with, if you will.

They measure the delivery point performance from a group perspective; i.e., the amount of load being served by that delivery point and the performance that should be expected from that group.

And depending on the performance, the actual performance, with respect to a three-year rolling average associated with that standard, if you're below, you're good.  If you are above, i.e., worse than the standard, you would be considered an outlier.

And those standards are both on a frequency and a duration perspective, and so we are measuring the number of delivery points that fall outside the "standard performance", if you will.

There's another component, that is looking at the historical ten-year performance of each delivery point that establishes the base line for each delivery point and then one standard deviation above the base line.  If you are above -- i.e., worst performance than the standard-plus one standard deviation, i.e., above the standard, both on frequency and duration -- you would be considered an outlier.

So this measure is looking at the total number of outliers that we have on the system versus the total number of delivery points that we have.

MR. GARNER:  Okay.  So is big number worse than small number in that?

MR. JESUS:  Yes.

MR. GARNER:  Okay.  Thank you.  That shows you where I am at.

But -- so as I understand it, the way it works also is the delivery point standard is subdivided by size.  There's a size concept to it, bigger delivery points versus smaller ones, I think a small-mid.  Is that your understanding too?

MR. JESUS:  So as I indicated, there is two components.  One is based on size, so there is zero to 15 megawatts, 15 to 40 megawatts, 40 to 80 megawatts, and greater than 80 megawatts that forms the, I will call it the load or the group type of delivery points.

And then there is an individual delivery point.  So there's two here, two at play.  So on either one of those two elements, whether a delivery point outlier is calculated.  So you said you differentiate based on load size only for that one element.

MR. GARNER:  Right, okay.  So another question is -- so first of all, you will see in the response -- and it is at page 40 of this interrogatory of VECC's -- is that there's a middle of that -- page 40 of the compendium.  You have it up.  But it's -- Hydro One has also submitted a survey of customer interruption costs.

Is this survey in the -- first of all, I am not quite sure what this survey is.  What was this survey?  Can you explain to me what this was?

MR. JESUS:  This survey at the time was a view of customer interruption costs, based on the amount of load that was being interrupted for the duration of the interruptions.

So it helped to form the load size standards, if you will, the zero to 15, 15 to 40, and the associated reliability expectations for each one of them.

MR. GARNER:  So correct me if I'm wrong.  That must be a very old report, because that is a fairly old standard, isn't it?  Like, the development of this?  Or is this a relatively new report?  Can you give me any sense of it?

[Witness panel confers]

MR. JESUS:  The standards were developed in EB-2002-0424.

MR. GARNER:  Right.  They're very old.  The data they use is very old, and -- I take it.

Now, this report, though, is that part of this exercise in 2002 or so?  Is that how old it is?

MR. JESUS:  It would have been.

MR. GARNER:  Okay.  so I just want to know my interest in it.

But now, as I understand it with these delivery points, that utilities who are connected to you or even customers, there is a correlation between what they may need to contribute to you for changes or upgrades to delivery points.

Have I got that correct, that these inform that calculation in some fashion?

MR. JESUS:  That's correct.  So if we can go to -- let's just go to the report so that we ground ourselves.

The report can be found -- I'm sorry, I can't find the reference right now, to be honest with you, but suffice --


MR. GARNER:  You can do --


MR. JESUS:  Sorry, go ahead.

MR. GARNER:  I said you can do that by undertaking.  What I am really just wondering, and maybe -- because I will get right to the chase.  I don't want to take too much longer.  What I am really wondering is, if there is an impact for utilities who I am interested in, I'm sure for industrial connects too, but for utilities, as to how this CCDP works, are you aware, when you did your customer engagement, whether the customers were engaged on this metric and its appropriate calculation or not?  Or how they feel or whether they feel that calculation should be updated from the 2002 -- and I believe the data goes back that you are using to 1990s sometime.

Did you have -- did you get -- I know you didn't do the survey.  Did you get any info from that survey or that customer engagement that talked to you about this metric?

MR. JESUS:  I'm not aware of any of those communications, in terms of customers specifying delivery point standards.  I did find the reference; it's D-02-01.

So if we can go to D-02-01.  Suffice it to say when we do meet our customers, our account execs are meeting with our customers on a regular basis, and reports -- I believe quarterly customer reports are shared with them and in those reports, we identify whether they're a delivery point outlier or not.

If we could go to the attachment -- is there an attachment there?

MR. GARNER:  Is the impact of being a delivery outlier that there is a cost to be incurred by someone in order to upgrade the delivery point?

MR. JESUS:  So again, I wanted to differentiate between the two elements.

The one element is based on load size differentiation, so the zero to 15 through to greater than 80 megawatts.

If you are an outlier from a group perspective based on load size, if you fall -- if you are an outlier, then we would consider the three-year revenue to determine whether or not -- we would contribute three years' worth of revenue to restoring that supply.  And the rationale for that is that if you are a long, 500-kilowatt line supplying five megawatts and you're experiencing 21 or 30 outages during the course of the year, that the cost of remediating that to bring you in line with zero to 15 megawatts would be astronomical.

So what we did, what we caveated when we developed these standards is that from that perspective, we provided the supply to you.  You were happy with the supply and now, from a reliability point of view, if you want to improve it beyond what was there originally, then you need to contribute to that reliability.

MR. GARNER:  Based on the standards ...

MR. JESUS:  I just want to finish.  By the second standard, if inherently -- once we establish that baseline and you become an outlier based above that, Hydro One would be on the hook for fixing that reliability.

MR. GARNER:  Right.  So all I am saying is it is based on the standards.  And I am right the standards are based on 1991 to 2000 data.  Is that correct?

MR. JESUS:  It was formulated and submitted as part of that EB-2002 proceeding.

MR. GARNER:  Right.  And you have not upgraded the standards in the past 18 years based on any new data, based on potentially changes in basically the performance of your assets.  I mean, you have been putting in lots of new assets and things have hopefully gotten better.  You have not made any adjustment for that, is that correct?

MR. JESUS:  We have not.

MR. GARNER:  Thank you.  And you didn't ask your customers -- you never got any information of your customers, your utilities who have to make payments potentially based on that actually had any interest in that happening, did you?

MR. JESUS:  When we meet with them regularly as part of the customer account executive role, they do share with them the reliability performance and whether or not they're interested in improving their reliability performance beyond what they currently have.

MR. GARNER:  That wasn't my question.  My question was did you inform them that, you know -- did you have a discussion about whether the CDPP standards should be reviewed for new data and potentially base changed based on an update of the standards?

MR. JESUS:  I don't believe so, but you can ask Mr. Spencer Gill that question in panel 2.

MR. GARNER:  Thank you.  So I only have one final question and I believe it is -- I believe it is for you, Mr. Holder, because it is about -- I understand that you are talking about the backup centre.  I can't see you, Mr. Holder, but I am sure you are there.

If you go to VECC -- and it's not in my compendium, VECC Interrogatory No.10, we asked a question about there was money spent or money put in budgets from before for this project, and you gave a table here of this stuff.  
And as I understand it, this money wasn't ever spent on any of the projects, was it, or any of the backup centre control?  Is that correct?

MR. HOLDER:  Yes.  The filing that you're referring to, there was no expenditure.

MR. GARNER:  I see.  Can you just refresh my memory right now.  What is the current cost of the backup control centre to the total cost?

MR. HOLDER:  The total cost for the backup control centre is $154.4 million.

MR. GARNER:  Which is significantly more than what was talked about in the past, right?

MR. HOLDER:  That's correct.

MR. GARNER:  And that's because -- why?

MR. HOLDER:  And that's because initially we were talking about just building a backup control centre at one of our TSes, where we did not consider the need for additional fibre, the need for some additional needs that we had across the company.

Now, what happened after that filing is a decision was made to look across the entire organization to see if there were other lines of business that had similar needs.  And at that time, we found out that, yes, a telecom needed a facility similar to this.  Our security people needed a facility similar to this and as a result of that, what we did was we followed that up with a planning needs assessment and came up with what was the need across the organization.

And that eventually came out to be moved from what was originally planned to be a backup control centre to an integrated control centre across Hydro One.

MR. GARNER:  Okay.  Thank you.  Thank you, panel.  Those are my questions.  Thank you, Mr. Chair.

DR. ELSAYED:  Thank you, Mr. Garner.  I think we will take our morning break now, and we will resume at 11:30.
--- Recess taken at 11:10 a.m.
--- On resuming at 11:31 a.m.

DR. ELSAYED:  Please be seated.  Mr. Rubenstein.
Continued Cross-Examination by Mr. Rubenstein:

MR. RUBENSTEIN:  Thank you very much, and thank you for the indulgence, Panel.

Just one thing before I get to my questions on the integrated systems operation centre.  I just want to make sure I heard something correctly, Mr. Jesus, in your responses to Mr. Harper -- I mean to Mr. Garner.

Mr. Garner asked you to confirm that your customers said frequency was more important than duration in the context of outages, correct?

MR. JESUS:  That's correct.

MR. RUBENSTEIN:  And then when he linked it back to the scorecard; and you mentioned with respect to your corporate scorecard, it is actually duration, not frequency, that's on the corporate scorecard.  Did I get that correct?

MR. JESUS:  That's correct.  But SAIDI is a combination of -- takes everything into account.  Rather than putting all the metrics on to this corporate scorecard, we only put the one.

So SAIDI takes the frequency into account, the duration into account, and puts it into one single metric.

MR. RUBENSTEIN:  Well, there's SAIDI and SAIFI.  I would have assumed just based on what your customers would have said you would have wanted to have SAIFI, not SAIDI, on the corporate scorecard.

MR. JESUS:  I think from a corporate point of view we have used SAIDI because it takes the full impact of that outage into account.

So it takes the outage itself into account, as well as the duration into account, because you're adding them all up during the course of the year.

MR. RUBENSTEIN:  All right.  Thank you very much.  Let me turn to the Integrated System Operation Centre.  There was some brief discussions about that.

But as I understand what the facility is, it's going to be the new primary control centre, it's going to house your data centre, it's going to be the security operations facility, and it's also going to be a backup telecommunications management centre.  Those are the large functions with respect to that facility.  Do I have that correct?

MR. HOLDER:  That's correct.

MR. RUBENSTEIN:  And as Mr. Garner pointed out, this facility has been discussed in some form or another through a number of distribution and transmission applications.  Do I have that correct?

MR. HOLDER:  That's correct.

MR. RUBENSTEIN:  If I could ask you to turn -- I don't have a compendium, but we will ask that these get as we go marked individually.

If we can turn to an exhibit from your last proceeding -- from your last transmission -- distribution proceeding, so 2017-0049.  GP-18.  The original filed version in 2017 -- dated March 31st, 2017.

If we can just pull that up on the screen.  If we can mark this as an exhibit.

MR. SIDLOFSKY:  Sorry, K4.2.
EXHIBIT NO. K4.2:  EXHIBIT FROM EB-2017-0049, GP-18, ORIGINALLY FILED VERSION DATED MARCH 31ST, 2017.

MR. RUBENSTEIN:  And as I understand this project, it spans both distribution and transmission.  So it is allocated to -- partly to the distribution business and it will be allocated partly to the transmission business, correct?

MR. HOLDER:  That's correct.

MR. RUBENSTEIN:  And so at the time you filed the distribution application, the project was supposed -- was planning to go in-service in Q3 2020.  Do I have that correct?

MR. HOLDER:  I believe that's correct.

MR. RUBENSTEIN:  And if we go to page 22 of the ISD, the cost at the time, do I have it, the total cost spanning both transmission and distribution, so the full cost of the facility, was 130 million.  Do I have that correct?

MR. HOLDER:  I believe that's correct.

MR. RUBENSTEIN:  And then as I understand it, as that proceeding occurred, the cost was updated.  And I would ask that the updated GP-18, which was a response to an interrogatory in that proceeding, Staff 183, please be put up on the screen.

If we could go to -- flip through, the next page, this is, as you can see the date, this is February 12th you filed this.  Do you see this?  Do you see that?

MR. HOLDER:  Yes, I do.

MR. RUBENSTEIN:  Maybe we can mark this document as an exhibit as well.

MR. SIDLOFSKY:  K4.3.
EXHIBIT NO. K4.3:  UPDATED VERSION OF GP-18.

MR. RUBENSTEIN:  And if we flip, again, to page 22 of that document, in the intervening time period -- no, sorry.  Is this the right document?  Sorry.  22.  Not 20.  Sorry, page 22 of the document.  Yes, not the PDF.

The total had increased to $138 million.  Do you see that?

MR. HOLDER:  Yes, I do.

MR. RUBENSTEIN:  So an increase of 6 percent in the intervening time between March when you filed the application and I guess February of the next year.  Correct?

MR. HOLDER:  Correct.

MR. RUBENSTEIN:  And my understanding at that time there was a class A estimate.  Do I have that correct?

MR. HOLDER:  I believe at that time -- what year was that?  Sorry.

MR. RUBENSTEIN:  This would have been February 2018.

MR. HOLDER:  February 2018, yes, it would have been a class A estimate.

MR. RUBENSTEIN:  And that's the highest estimate in the AACE range, correct?

MR. HOLDER:  Correct.

MR. RUBENSTEIN:  By that I mean the highest meaning it is the most accurate, correct?

MR. HOLDER:  In terms of accuracy, yes, but they're two different methodologies used in terms of the AC and class A.

MR. RUBENSTEIN:  Sorry.  Can you repeat that?

MR. HOLDER:  The AAC is different from the classes that they use in terms of class A, B, C, D, or E.

MR. RUBENSTEIN:  Okay.  Then let me -- maybe I am mixing up terms.  Whatever the -- as I understand, this is a class A estimate.  And that's not using the AACE methodology, it is using a different methodology?

MR. SPENCER:  Just to clarify -- we should have done this earlier -- the AACE methodology is something that we have introduced and are utilizing for, I am going to call them power system projects.  It wasn't applied on the basis of this estimate for the ISOC at that point in time, just a clarification.

So to clarify Mr. Holder's point, they were two different methodologies, and then he can answer specific questions on the estimating applied to ISOC.

MR. RUBENSTEIN:  But you used some methodology that had a class, A as I understand it.

MR. HOLDER:  Correct.

MR. RUBENSTEIN:  And that -- using that methodology is different than the AACE.  It is the highest, most accurate?

MR. HOLDER:  That's correct.

MR. RUBENSTEIN:  All right.  Now, in this application you filed as ISD GP-01 the project again.  If we can pull that up.  This is again the same facility, correct?

MR. HOLDER:  That's correct.

MR. RUBENSTEIN:  We see now that the in-service date has moved from Q3 2020 to Q1 2021.  Correct?

MR. HOLDER:  Correct.

MR. RUBENSTEIN:  If we go to page 30, we see the total cost has now increased from 138.4 million to 159.8 million.  Correct?

MR. HOLDER:  Correct.

MR. RUBENSTEIN:  That's an increase of about 15 percent?

MR. HOLDER:  Subject to check, I think the calculations might be right.

MR. RUBENSTEIN:  So we asked you in SEC 38 about this.  And you can turn it up if you'd like, but essentially what you said was when you received the results of the RFP they were higher than the estimate that you had provided and higher than the class A range of plus or minus 5 percent.  So you went back to your consultant to look at, well, what has occurred here, and essentially they provided some reasons for why the costs would be higher and you provide those in the responses, and just, they were skilled trade rate escalation, the tariffs, new foreign tariffs -- I assume we're talking about steel tariffs -- and competition with local construction resource.

Do I have that right?

MR. HOLDER:  Yes.  So what happened was that when we received the numbers from the RFP, they were different from the class A estimate that we had back in 2018.

We went back to our cost consultant and said, the estimate that you provided us I think was sometime in 2017.  It's been a year now.  Could you update that estimate for us?

They came back with an estimate that was pretty much close to the RFP numbers that we got.  So we called in our cost consultant and said, what happened there?  How is it that this has changed so significantly, and we had a class A estimate.  And then they pointed out to us that what has happened in the market has changed.  First of all, there was a 20 percent increase in steel.  Rebar went up by 20 percent.  There was competition in terms of labour.

They also pointed out to us that part of the assessment they do is they will look at the school boards across Peel and Toronto, to get a feel as to what is going on in terms of labour for their numbers.

And both the Region of Peel and the school board, they were reporting higher-than-budgeted numbers for labour.

MR. RUBENSTEIN:  And so when your cost consultant came back and said the costs are just going to be higher -- that's for reasonable reasons, in their view -- what did you do?  Did you go back and look at the project and say, well, maybe we need to change the scope.  Maybe we need to change the design.  Maybe we need to do something.  Did you do any of that analysis?

MR. HOLDER:  So one of the things that we did, and it was part of the RFP, was that we asked all the proponents to provide us with what we call value engineering, basically to say, look, as you go through this project, if there is anything that you see there that can be done in a more cost-effective way, bring it to the table.  Tell us about it.

In addition to that -- before I finish the answer to that question, as part of our own internal work, we have been trying as best as possible to keep costs as low as possible in terms of scope.

The scope that is here today is the scope that is needed.  Extras have been taken out a long time, and this is what is the need.

And the costs of proceeding the need that we've got today, it is the $154 million.

MR. RUBENSTEIN:  So I assume when you went out with the RFP, you obviously have requirements that you need.

MR. HOLDER:  Yes.

MR. RUBENSTEIN:  You also have a preliminary design, or some idea what the building is going to look like, in terms of conveying those requirements to the proponents, correct?

MR. HOLDER:  So requirements are done normally at the conceptual stage, pre-design during the conceptual phase of the design.  Once you get to a detailed design -- sorry before you go to the road for a pricing, a detailed design is done.

MR. RUBENSTEIN:  So there was a detailed design in the context of the RFP?

MR. HOLDER:  Yes.

MR. RUBENSTEIN:  And did you look -- and that, for example, would have a mock layout of what the building would look like, and a floorplan, and those sort of things, correct?

MR. HOLDER:  That's correct.

MR. RUBENSTEIN:  Did you then -- just to be clear, when the costs came in 15 percent higher than you had forecast, and that itself was an increase over just the year earlier, did you go back to those designs and say is there anything we can do to lower the cost if you make the rooms a bit smaller?  That is a simple example, but that sort of thinking.

MR. HOLDER:  I understand the question that you are asking.  But I also want to point out to you that we were always cognizant of costs while we were progressing through this project.

The design that we ended up with is not what we started with.  We took out a number of things as we went along the line.

The design that we have got today is what we believe is required to sustain the operations that we want to do in this facility.

MR. RUBENSTEIN:  But to my question, did you consider -- after the costs increased from 138 million to 159.8 million, did you consider further changes that could be made, yes or no?

MR. HOLDER:  We looked again, yes, we did look at the design again and determined that there wasn't anything of significance that we could have taken out.

MR. RUBENSTEIN:  Okay.  Now, if we go back to the updated ISD from the previous DX proceeding, I think that is marked K4.2, you undertook -- we can see this on page 23.  You undertook a benchmarking exercise to try to, I assume, show that the costs were reasonable.  Correct?

MR. HOLDER:  The benchmarking exercise took place at the end of the conceptual design, because we wanted to understand what was the costs for building a facility like this and where our costs would have been coming in.

MR. RUBENSTEIN:  I assume one of the reasons you undertake it and you are presenting it is to show our costs are reasonable.  Correct?

MR. HOLDER:  Correct.

MR. RUBENSTEIN:  All right.  So what we see in this table here is what you did is you looked at some comparator facilities, the square footage of those facilities, and you calculated a cost per square foot and then you inflated it to get to $2,016, which was at the time the same, I assume, where your ISOC soft costs estimate were at, to have an apples to apples comparison, correct?

MR. HOLDER:  Correct.

MR. RUBENSTEIN:  What I see here the average cost for the comparators was 996 million, and the ISOC was at the $1,096 per square foot.  Do I have that right?

MR. HOLDER:  You have that right, but you are using 2016 numbers.  I think if you are going to look at this table, you need to look at what we filed and those numbers were up updated to 2018.

MR. RUBENSTEIN:  I just want to look at this time what was involved in this.  We will get to 2018.  At this time, that is what you were doing, correct?

MR. HOLDER:  Yes.

MR. RUBENSTEIN:  At that time your costs were 10 percent above the average.  Take that subject to check?  That's the 196 versus the 996.

MR. HOLDER:  It is somewhere around there, yes.

MR. RUBENSTEIN:  So now if we look at what you've done in the ISD GP-01 in this proceeding, and if we can go to page 32, as you mentioned, you have updated your costs and you've also inflated the comparator costs to 2018 instead of 2016.  Do I have that correct?

MR. HOLDER:  Correct.

MR. RUBENSTEIN:  So what we see here is proposed ISOC costs of 1,266, and the average being 1,141.  Do I have that correct?

MR. HOLDER:  Yes, that's correct.

MR. RUBENSTEIN:  Now, that's confused me because if we go back to the 2016 average, in 2016 the averages were $996 per square foot.

And then if we inflate it just to 2018, so two years, that number has increased to 1,141.  That's about a 15 percent increase.  As I understand it, all you're doing is using CPI to move the numbers up two years.

MR. HOLDER:  No, we are actually -- a lot of these numbers are coming from, or came to us in US dollars.  So we are using the exchange rate, the official Canadian exchange rate to determine what a dollar in 2016, a US dollar in 2016 would have been worth against what it is worth now today.

MR. RUBENSTEIN:  So on the bottom of K4.2, page 23, it says:  "Converted from US dollars to Canadian at an exchange rate of one US dollar to 1.3 Canadian dollars."


If I look at page GP-01 in this proceeding, page 32, it says:  "Converted from US dollars to Canadian at an exchange rate of one US dollar to 1.3 Canadian dollars."


So there is no change in the exchange rate.  You haven't updated the exchange rate.

MR. HOLDER:  That might have been an error, but we're using the latest -- we used the latest exchange rate.

MR. RUBENSTEIN:  Maybe the best way is, by undertaking, you could tell me what you've done and if a correction is needed to be made to the information
in GP-01.

MR. HOLDER:  I can verify that.

MR. SIDLOFSKY:  That will be undertaking J4.4, and while I am speaking, we should also be marking the ISD for GP-01 as Exhibit K4.4.

MR. RUBENSTEIN:  No, that's already in.

MR. SIDLOFSKY:  Okay, sorry. 
UNDERTAKING NO. J4.4:  TO CONFIRM THE EXCHANGE RATE DATA IN GP-01, AND ADVISE WHETHER A CORRECTION IS NEEDED


MR. RUBENSTEIN:  Now, if we could pull up the Board's decision in the 0049 proceeding.  I am not sure this is also on the record.  I assume it's not, so if we can mark that as an exhibit as well.

MR. SIDLOFSKY:  I was apparently just a little ahead of you, Mr. Rubenstein.  K4.4.
EXHIBIT NO. K4.4: ISD FOR GP-01


MR. RUBENSTEIN:  If we can go to page 165 of that decision and the ISOC, we had a long discussion -- not with you, Mr. Holder.  But I had a long discussion with, I think, Mr. Irvine in the last proceeding, and the ISOC was discussed at length in that proceeding.

In the Board's decision, one of the things they ordered was -- and you'll see this in the last paragraph above the deferral and variance account, and it says:
"The OEB directs Hydro One to place the revenue requirement associated with the forecast costs of this ISOC in an asymmetrical variance account to be offset by the revenue requirement of the actual costs.  If revenue requirement actual cost is lower than revenue requirement of forecast costs, Hydro One will be required to return the difference to its customers.  The account balance will be considered for disposition in Hydro One's next rebasing application."

Do you see that?

MR. HOLDER:  Correct, yes, I see it.

MR. RUBENSTEIN:  And there they are discussing the distribution allocated portion of the costs, correct?

MR. HOLDER:  Correct.

MR. RUBENSTEIN:  And with respect to the transmission portion of those costs, that is at issue in this proceeding, obviously, correct?

MR. HOLDER:  Correct.

MR. RUBENSTEIN:  And are you proposing any similar treatment?

MR. KEIZER:  I don't know if Mr. Holder knows, but there is no request for a variance account in this proceeding.

MR. RUBENSTEIN:  And in your view, should the Board order?  Would it be appropriate?  To have a similar treatment?

MR. KEIZER:  Well, I don't know if that is for Mr. Holder to decide.  If you want to argue that, Mr. Rubenstein, I am certain we can deal with that in submissions.

MR. RUBENSTEIN:  All right.  Fair enough.  Now, lastly, if we can go back to SEC 38.  In part C we asked you, has the full business case been completed, and if so, can you please provide a copy, and your response was:

"The business case has not yet gone to Hydro One's board of directors, but it is expected in the near future."

Do you see that?

MR. HOLDER:  Yes, I do.

MR. RUBENSTEIN:  So do I take it, then, the RFP was issued before the full business case had gone to your board of directors for approval?

MR. HOLDER:  Yes.  Because we need to give the Board a clear understanding of what they're approving.  An initial approval was done for, I believe, $18 million to allow us to get through design and RFP and all of that.

The full approval -- we need to give the Board full disclosure as to exactly what we are doing.

MR. RUBENSTEIN:  And so the approval of the full cost, the first time that they will tick the box and approve the  $159.8 million or whatever, it could be for a project of this size, would be after the RFP had been completed?  Is that the usual process?

MR. HOLDER:  Yes.  That is correct.  But I just want to add to that.  The Board would have been informed about this project through the business plan.  In the overall business plan the numbers associated with this project is clearly outlined and the objectives that we want to achieve.

MR. RUBENSTEIN:  So what's the point of giving them the business case so late in the process?  That confuses me.

MR. HOLDER:  It's not late in the process.

MR. RUBENSTEIN:  It's after the -- I mean, if that's your view, fair enough.  It just seems to me that after the RFP now you are bringing the business case to them.

MR. SPENCER:  It's actually no different than our typical projects.  A project of this magnitude, the Board would have insight into it as part of our annual business planning process, so there's awareness and disclosure through that.

But the projects that we ultimately take to the approval authority, be it the Board or some other level in our organization, it's not uncommon to have a completed -- the approval for the final full project amount happening after all sourcing events have been completed, such as an RFP for the general contractor.  So that is not uncommon at all for us.

MR. RUBENSTEIN:  And when you go to your board of directors with the business plan, because there are business plan documents that you provided in this case and others, I don't recall -- I mean, they're not very detailed on any one expenditure item.  They're grouped into essentially, you know, these are the system renewal projects.  This is all of the conductor projects.  They're at a higher level, right?  In a business case to me would be much more -- in much more detail, correct?  You're explaining the risks of the project, the alternatives.  Is that presented to them maybe in some other form earlier on in the process?

MR. HOLDER:  The details on the risk and all of that will be in the business case that goes up to the Board.  But given the fact that -- because I remember this exchange between yourself and Mr. Irvine -- given the fact that this project is a sizeable one, there was much more detail given to the Board in the business plan explaining, this is what it is, this is what we are doing.

MR. RUBENSTEIN:  All right.  So as I understand -- and I think I saw a press release from the company -- I think the name has changed, and I think there was a ground-breaking or some presentation in the community.  Do I have that correct?

MR. HOLDER:  The name of the project is still the ISOC.

MR. RUBENSTEIN:  Sorry.  It's my understanding that there was some event in the Orillia community where you were -- some members of Hydro One, about this facility?  Or do I have that wrong?

MR. HOLDER:  There was an event at the city hall, not at the site.

MR. RUBENSTEIN:  Okay.  So has the business case gone to the board of directors yet?

MR. HOLDER:  Yes.  We do have an approved business case.

MR. RUBENSTEIN:  Can you provide it?

MR. HOLDER:  Yes, we can.

MR. RUBENSTEIN:  Okay.

DR. ELSAYED:  Just as a quick follow-up question.  When you say you went for the RFP before you went to the Board with the business case, when you went to the Board you had not yet awarded the contract; is that correct?

MR. HOLDER:  That's correct.

DR. ELSAYED:  So you have an RFP, you have proposals.

MR. HOLDER:  Yes.

DR. ELSAYED:  But you don't have a contract?

MR. HOLDER:  That's correct.

DR. ELSAYED:  Okay.  And how much percentage-wise roughly would you have spent on the project before you actually went to the Board for approval?

MR. HOLDER:  If someone can do the math there quickly for me, $11.2 million out of 154.

DR. ELSAYED:  So maybe 10 percent or so.

MR. HOLDER:  About 7 percent.

DR. ELSAYED:  Okay, thank you.

MR. SIDLOFSKY:  And that will be J4.5.
UNDERTAKING NO. J4.5:  TO PROVIDE THE APPROVED BUSINESS CASE.

MR. RUBENSTEIN:  And then just lastly, is the project still forecast to cost $159.8 million?

MR. HOLDER:  No.  What we have got, what we got -- what we've got before the Board, as I said, during the discussions we had as part of the RFP, the proponents were asked to come back with what we call value engineering.  So they came back with some suggestions.  We analyzed those suggestions, and the project -- the value that is before the Board and was approved is $154.5 million.

MR. RUBENSTEIN:  But you're still seeking in this application the in-service additions of $159.8 million.  Correct?

MR. HOLDER:  No.  I think what we've got -- what we've got before the Board, the total ask that we've got before the Board, if my math is correct, subject to check, is in this filing you've got -- sorry, for transmission and distribution you've got 79.8 and distribution you've got 69.3, giving you a total of 149.4.

MR. RUBENSTEIN:  Okay.  So even though the total says 159.8, the transmission allocated portion is not based on that amount, that you are seeking approval for and it is built into the in-service additions you are asking for before this Board in this application today?

MR. HOLDER:  Repeat the question, please.

MR. RUBENSTEIN:  I will see if I can remember what -- exactly how I put it.  I just want to confirm that the amount you are seeking approval for in this application -- by that I mean the in-service addition; the revenue requirement and the in-service additions -- is not based on a transmission-allocated portion of 159.8, it is based on an amount, I think about $10 million less?  And if you would like to take an undertaking to make sure you can get that number correct, I would have no problem with that.

MR. HOLDER:  Yes, I will take an undertaking.

MR. RUBENSTEIN:  Okay.

MR. SIDLOFSKY:  J4.6.
UNDERTAKING NO. J4.6:  TO PROVIDE THE AMOUNT FOR WHICH APPROVAL IS BEING SOUGHT, INCLUDING REVENUE REQUIREMENT AND THE IN-SERVICE ADDITIONS.

MR. RUBENSTEIN:  Thank you very much.  Those are my questions.

DR. ELSAYED:  Thank you.  We will now go to the panel questions.
Questions by the Board:

DR. ELSAYED:  Ms. Anderson.

MS. ANDERSON:  Mr. Holder, just following on.  So just as part of that undertaking, can you just make sure we know what percentage is being allocated to transmission versus distribution?  I think the evidence said it is the Black & Veatch methodology, and I think that was 50/50, but I just want to confirm we have that accurate number.

MR. HOLDER:  Sure.  We can, but I can tell you -- I can tell you here now the percentage for transmission is 49.93 and distribution is 50.07.

MS. ANDERSON:  Thank you.  And just on this project still.  Can you confirm that this project is not reliant or dependent upon the decision of the OEB in another proceeding on the acquisition of Orillia PUC?


MR. HOLDER:  No, it's not.  We did a -- a devaluation  for this project was done on its own merit.  We looked at a number of sites and we determined Orillia was the best in terms of cost, in terms of its proximity to the OGCC and a number of other factors.


MS. ANDERSON:  Thank you.  I just wanted to get that on the record.


So moving on, I think this might be for Mr. Spencer, but you guys will let me know.  I am reflecting back on the previous cross-examination of Mr. Rubenstein, when he was bringing us back and forth between ISD forecasts from the last proceeding -- am I correct that is EB-2016-0160 -- and the forecast in this proceeding.


He was flipping us sort of back and forth and back and forth.  So from that, am I correct that we actually don't have a listing that shows what any of these projects, what they were in the previous proceeding, the ISD and what the new forecast is in this proceeding, if they are going into service in this term?


Do we have a listing that shows the before and after forecast with the in-service date and if not, is that doable?


MR. SPENCER:  So what is on the record is contained in Exhibit -- just let me make sure I get the reference right -- C-02-01, attachment 1, and it focuses in specifically on 2017 and 2018 actuals versus plan.


It does have information on schedule and how that's been updated since that point in time. It does not have a clear project total cost from one application to the next.


MS. ANDERSON:  What I am reflecting on is, of course, Mr. Rubenstein was showing us a number of projects and all of the forecast costs were higher, I think, but maybe but one.  I think your comment, if I remember correctly, was yes, there will be some that will be higher, there will be some that will be lower, but all that we saw tended to be on the higher side.


So how difficult would it be for you to produce a list of material ISDs from the last proceeding and what the forecast was, and what the new forecast is for those that are going into service in this term, just so we can compare those forecasts with perhaps the in-service date.


I would even be satisfied -- I know your materiality limit is like three million, which is perhaps a lower number to look at forecast error, but maybe all projects over 20 million.


I don't know if that makes less work or more work to subdivide.  Is that something that is doable?


MR. SPENCER:  I think we can achieve that, yes.


MS. ANDERSON:  I have no idea how many projects that would be.  I am talking projects, right, not programs.


MR. SPENCER:  We will look at it through the eyes of material projects that contribute, whether it is a material difference between the periods.


MS. ANDERSON:  I would find that helpful, if that was doable.


MR. SIDLOFSKY:  J4.7.

UNDERTAKING NO. J4.7:  TO PRODUCE A LIST OF MATERIAL ISDS FROM THE LAST PROCEEDING AND WHAT THE FORECAST WAS, AND THE NEW FORECAST FOR THOSE GOING INTO SERVICE IN THIS TERM


MS. ANDERSON:  Then continuing on, Mr. Spencer, I believe you said what are all of the various sorts of reasons why forecasts can change.  I noted things like scope changes, schedule changes, just the expected tolerance of forecasting, coordination or dependency on others.


The one I didn't hear, and I wanted to clarify, was burdens, the allocation of overhead costs.  Has there been any change in how you've done burden rates or how are they -- the allocation of overhead costs from that last transmission proceeding to now that might have impacted those forecasts?


MR. SPENCER:  I think my colleagues coming on panel 3 will be best able to explain the difference in allocation methodologies.  But just from my role as the lead of our delivery organization, we tend to focus on delivery issues as opposed to cost allocation issues.


But panel 3 will be happy to answer those questions.


MS. ANDERSON:  So when your team is budgeting, do they have sort of burdened rates that they use it on -- that they use in doing their estimates, I guess.


MR. SPENCER:  Yes, and we tie it back to the fully burdened rates that come from our finance team.


MS. ANDERSON:  That comes from finance?  Okay, I suspected that was the answer.


MR. KEIZER:  Panel 2 is actually the best place for that.


MS. ANDERSON:  I suspected that.  It was one that wasn't mentioned, and I thought sometimes that can be a material difference if there's been a change, so I was curious about that.


Ms. Jablonsky, I think this is for you, and it is just -- I have heard obviously an awful lot about bathtub curves, and I just wanted to understand.


Are they something that's like an analytical tool, or more an anecdotal tool?


MS. JABLONSKY:  I would say anecdotal.


MS. ANDERSON:  So it's correct that the curve that you would experience would be different, depending on the asset class.  Is that correct?


MS. JABLONSKY:  The curve would be different from -- not necessarily, not necessarily.


The bathtub actually signifies from cradle to grave.  So on any asset actually, you would have the same issue.  The issue is usually at the design stage.  If there's an issue with the design, it will show itself in the first few years.


If everything is okay, then it will live its normal life and when it gets older, it dies.


So it pretty much follows all assets.


MS. ANDERSON:  So Mr. Sidlofsky was trying to bring you asset class by asset class on what's the impact of your spending on capital, on your O&M, and I think particularly in this term, but also we were hearing that that might be out more years.


So I just want to bring us up a level in that discussion.  How do you take into account your capital spending impact on your O&M?  And understanding that that might be capital spending from the previous plan on the O&M for this term.


So just at a high level, how do you take that into account?


MS. JABLONSKY:  If we look at -- if we're not going too far down, but still a little bit further, if we look at our maintenance plans and when we look at the assets that we do have, and we look at how we look at condition, conditions that we are in, if we're looking at competing resourcing, if we're looking at competing dollars, if we're looking at competing issues, we have to different tools.


We have -- if I look at the reason for doing a net present worth, net present value study on a 60-year old transformer, one would say why?  Because the ESL -- we will go to ESL again, the ESL of this unit would be 40 years.


Now, this unit is set to be about -- we're looking at that.  We're looking at installing this unit in replacing this unit in about 2021.


The NPV we are looking at is how far, do we have -- what is the -- what care should we put in place today in order for it to meet that date, to buy us some time to deal with other issues.


If we're looking at PCB and we are looking at federally-mandated that all PCB should be sampled, retrofilled by 2025, do we then go into an old asset retrofit test, sample retrofit for what could run us to almost 100K and then replace it two years later?  Or do we utilize, do we bring forward that project and fix both issues at the same time.


So when you are asking do we look at how do we manage the capital dollars, it will be the state of the equipment that would be driving it.


So we would look at -- when we are looking at what we get out of asset analytics, we would be seeing the top ten, if we are looking at the top ten lists of the worst performing equipment, worst performing breakers, worst performing transformers, where are they on the replacement plan.


So all of this is taking place.  What are the projects that are going in?  How big should the project be, what should the project entail.


But the candidates -- the data that supports the candidates is within the portfolio.


MR. JESUS:  Just to take it up just one more level, come up a little level.


When we purchase new equipment, the capital plan expenditures, those assets will be entered into our systems of record, SAP, and they will be installed with the maintenance plan suitable for a brand new asset.


So when we come to develop the O&M plans that are presented here, our systems of record would identify them as a brand new asset and the appropriate maintenance plans would be taken into account, and the associated maintenance dollars would then be presented here over the plan period.


So all of that is done through our source systems.  The attached appropriate maintenance plans are identified and those dollars are -- those savings are recognized as part of the maintenance plans.


MS. ANDERSON:  Thank you.  Those are my questions.


DR. ELSAYED:  Thank you.  Dr. Dodds?


DR. DODDS:  Oh, my mic is off.  I'll address these questions to the panel in general because I'm not sure who the appropriate person is, but I understand that from the testimony that about 90 percent of your capital works are carried out by what's called self performance, which is in-house.  Is that correct?

MR. SPENCER:  On our transmission capital specifically, yes, that's about accurate.

DR. DODDS:  Okay.  And then when I look at your total staff, you can take these numbers as correct subject to check, but for Hydro One transmission for 2019 you have about 4,474 full-time equivalent and a bit above MCR management, Society, PWU, Power Workers' Union, and temporary.

If I look at the numbers from 2018 to 2019, those numbers go up for management by 17, Society by 92, PWU by 56, and temporary by 63.  That's from 2018 to 2019.

And you can take this as being correct subject to check.  The numbers aren't really important.  It is just my question that follows, is that, is this increase in these numbers due to your anticipation of having to carry out engineering work, assessment work, to define the projects that you are now applying for inclusion in your rates?

MR. SPENCER:  Directionally I would say no.  That increase in -- I believe it was 2019 over '18?

DR. DODDS:  Yes.

MR. SPENCER:  So in that time line we're looking at all the existing and present needs for all of our work program across transmission, distribution, maintenance, capital to help sort of give directional context to the change.

Ms. Sabrin Lila, who is coming up on the next panel, can talk specifics.  But looking forward into the test-period and beyond we have spent some time ensuring we have the capacity, the processes, the models to utilize a very flexible work force in how we plan to deliver on those forward-looking increasing capital work programs.

So we haven't begun a significant ramp in response to what we see in the future.  We have been utilizing our internal engineering resources, we have been utilizing our external engineering resources as well, in a position of readiness, but I wouldn't characterize this year-over-year change as one of anticipation of an increased capex program yet.

DR. DODDS:  Okay.  Well, thank you.  But -- so for your -- these capital projects that are identified here, like for system access, system renewal, system service, general plant, and so on, those are discrete projects.  So has assessment work gone into defining those and identifying them?

MR. SPENCER:  So within those category levels, yes, you are correct, they're made up of a number of projects that fit into those categories.  Each one will have a unique execution plan between the resources we plan to utilize both inside the company and through our third-party engineering, project management, construction companies, et cetera.

So we have done a project-level review of what the right execution strategy would be, and we have rolled that into our forward-looking projection of increased contracting.

DR. DODDS:  Okay.  So in your cost estimates that you are carrying forward, because they're based on some engineering, some assessment work, some thought, and what class of cost estimate would they fall into under the AACE?

MR. SPENCER:  There will be a mixture.  We tend to approve business cases -- this is an internal Hydro One business case approval at a class 3 state.  Sometimes we go a little bit further.  And the capital expenditures and the associated in-service additions in this application will be a mix of between class 2, class 3, and class 4.  The further out we go, obviously the less maturity we have on those expenditures.

DR. DODDS:  Okay.  So on a class 4 it is plus or minus 50 percent, and I think class 3 is plus 30, minus 20.  There's a range in there.

MR. SPENCER:  You have got it, yes.

DR. DODDS:  Okay.  Now, when you carry a typical project in-house, like, a typical project you would have engineering design, you've produced construction drawings, specifications, you'd call bids, and you award it.  The work is done, and work is certified complete and payment is made.

When you do your -- and then there is construct -- as-built drawings produced.  When you do your work in-house, do you follow a process similar to that except maybe instead of a bid it is a cost estimate?

MR. SPENCER:  Yes, we do.  We have a two-stage design and estimating process internally.  We -- it sounds like you are quite knowledgeable, so I will use the specific jargon we use.  We have a technical information package which aligns which an conceptual package.  We take that into a detailed estimate, which is more of a -- the name is escaping me -- detailed engineering, detailed engineering.  And then from -- that is typically what we're doing at the point of project approval.

So typically for a substation investment we're about 30 percent engineering complete.  For a transmission line investment at that stage we're about 60 percent complete, and then we proceed from there into release for construction drawings.

DR. DODDS:  Okay.  So on those construction drawings are they stamped or certified by someone?

MR. SPENCER:  Yes.  Our RFC drawings are -- all of the ones that have an engineering -- I am going to saying an engineering dimension to them are signed and sealed by the engineer of record, be that a Hydro One employee or a third party.

There are some drawings our constructors use which are not in fact sealed, but it is because they don't contain engineering details.

DR. DODDS:  And when you complete a project, who certifies it is complete?

MR. SPENCER:  So we have a markup process where our constructors, whether it is internal to the company or external, submit markups back to our engineering team.  We have a whole intake process.  We call them field modified prints.

It could be anything from civil or structural or wiring.  Those changes would have been previously discussed between our constructors and our engineers of record.  The engineers would have reviewed the change, endorsed the change, and said you know, modify it as such.  And then those drawings that are marked up in our construction group, they -- or external constructors, they flow back through our field markup process, our engineers of record take those changes, reflect them back into the project record, and then they're available for future use.

DR. DODDS:  So an engineer does look at it, though, that it is complete, then it goes up into your digital records, I presume is the way that you will do it.

MR. SPENCER:  Yes.

DR. DODDS:  Now, of course in a typical situation if there's a bid process and there's a cost overrun for changes other than for changes in circumstance, the contractor bears the cost.  You are doing it in-house.  You have an estimate you are working to.  If you go over or under, what happens?

MR. SPENCER:  So we do our best to obviously get an accurate cost estimate and schedule estimate at the onset of the project, and testimony throughout the last four days has given some information on how we have improved that.

But your question around consequence, if there is an overrun, or benefit if there is an underage, I guess, let's look at both sides of this, we use that insight back into how we inform future project estimates.  We take that back for learnings.  We have a lessons learned process that we execute on all of our projects over $10 million.

We are managing at a portfolio level, so there are some projects that will run a little over and some a little bit under budget.  So you know, part of my role is to balance out all of our -- I have about 250 projects right now in various states of execution.  So we're managing at that total level.

I don't know if that answered your question.

DR. DODDS:  Yes.  You will be working -- with respect to your rate case, your rate application, you will be working within a budget envelope, a capital project envelope, and I guess you will move stuff around to try to make sure you stay within that envelope?

MR. SPENCER:  Yes.  Both for capital expenditure and in-service additions, we're managing at the project level.  But we have to keep an eye at the portfolio, which is the sum of all the projects, yes.

DR. DODDS:  Okay.  This is a technical -- not -- type of question -- on that IOPA, you know, that Inn on the Park agreement, you say the process only applies to a subset of planned capital programs whereby 50 percent of the work goes to PWU and 50 percent goes to the construction trades.

Now, what part of the planned capital in this application would be a subset?

MR. SPENCER:  It would more or less align with program work.  So wood pole replacements, insulator replacements, shield wire, et cetera, all of that work together accounts for about 20 to 30 percent of our capital expenditure.

DR. DODDS:  Okay, thank you.

And you mentioned that -- you make reference to 50 percent going to construction trades.  Is that 50 percent of Hydro One's self-performance work?  Or does that mean an outside contractor?  Like...

MR. SPENCER:  I will step back one piece.  So we have 100 percent of our capital expenditure -- let's for purposes of this discussion say that 20 percent of it is programs.

So of that 20 percent piece -- it is more complicated than this, but more or less the IOPA assignments go -- half of that goes to construction trades, half goes to PWU.

So we're really talking about 10 percent of our total capital expenditure that would go to construction trades.

Now, on the construction trades it could be a direct hire, casual trade employee for Hydro One, or it could also be a third-party contractor, be they CUSW or IBW or any of the other unions.

DR. DODDS:  Okay, thank you.  What's the -- like, when you have got this capital budget, there's going to be a fair amount there's going to be in inventory and supplies, equipment, inventory, and supplies.  How much money of that -- of your capital request is going to represent inventory?

MR. SPENCER:  So approximately, subject to check, our portion of any capital project budget that is going to be material, is about 30 percent.  So material and equipment, be they big complex engineered equipment or construction material like nuts and bolts and conduits.  So approximately 30 percent.

The vast majority of our time, we direct ship to project locations.  We actually don't carry inventory in our capital projects.

That is inventory we use for more response to real-time events and breakdowns, et cetera, but a little bit different than the distribution case and transmission.  we direct-ship to site.  We might hold inventory for a matter of weeks until -- while we're staging, but it is not a rolling inventory.

DR. DODDS:  That makes good sense.  But on your O&M, like you know, big transformers are very expensive.  Do you have some sort of a policy on what sizes of transformers that you will carry in inventory and how many, and certain sizes you will probably use a portable?  Do you have those categories set out?

MR. JESUS:  Yes.  So we -- over the last five years, we reconciled and reduced the number of standard transformer sizes.

We run this Markov model, which is a probabilistic model which looks into the number of failures, how many of the same units we have on the system, and it determines how many spares we should carry for each class of transformers for each class of device, breakers, et cetera.

DR. DODDS:  Now, in your supply procurement process, do you look at trying to get your vendors to carry inventory?

MR. SPENCER:  So I am interested and I know some of the information on this topic, but I think Mr. Berardi will be coming on the next panel who is accountable for our shared services and procurement group, and can talk to it in better detail.  Short answer, yes.  Mr. Berardi can go into it.

DR. DODDS:  One other thing on this, though, is
that -- you know, you are probably the big bear in the room, but do you ever look at ...

MR. SPENCER:  I hope he is talking to you, or maybe it is Donna.  She is the CEO now.

DR. DODDS:  But do you look at the sharing, like borrow and replace, because OPG or other places have similar inventories and have some agreements.  I know smaller utilities would probably love it if you entered into some sort of agreement like that with them, where they could borrow from you because you have more inventory, but they have to replace it.

MR. SPENCER:  We’ve looked at the concept of spare pooling, both within the province and beyond.  Mr. Berardi can speak to some of the specifics.

The opportunities for us to partner with, say, the OPGs and the Bruce Powers of the world are quite limited.  Their applications are unique from their -- their transformers look different than ours in terms of ratings and functions, et cetera.

There are some ongoing efforts that Mr. Berardi can speak to around how we deal with more common commodities and common stock.

DR. DODDS:  Thank you very much.  Those are my questions.

DR. ELSAYED:  Thank you.  Just before I go into my questions, just a clarification on something that Dr. Dodds said, or you responded to.  How much of your contracted projects, percentage-wise, are fixed-price contracts?

MR. SPENCER:  So fixed price in the sense of hard capped LSTKs, it's relatively small.  We do -- let me back up a step.

When we go to market, we have for externally engineered or externally constructed projects, we have engineering deliverables that tend to be more mature than we do internally.

So the drawings that are utilized as part of the bid process and we tender with multiple pre-qualified construction partners, they come back, we go through an evaluation process and we select based on their application, that price is our controlled price. And subject to changes, that is the price we expect to the project to be delivered for.

Now, there are cases where we might do a scope change from the owner's perspective.  There could be arguably a change from the constructor's perspective, but we do of course have a contract management practice where we enforce their commitment that they made during the procurement process against that owner's requirement that we articulated.

So we defend our contracts as if they're a fixed price and on occasion, there are changes that are endorsed by us as the owners for things that maybe would not ought to have been known at the time of bid.

DR. ELSAYED:  So if the project goes over budget, is that something that's negotiated with the contractor after the fact?

MR. SPENCER:  In that scenario, yes, it could be.

DR. ELSAYED:  Okay.  I have a few questions related primarily to productivity savings.  So before I get into that, just as an introduction, you go through a process that you’ve described in detail to develop your transmission system plan, which involves significant effort for prioritization and optimization of your work program.

If I've got my numbers correctly, you've identified that your transmission system plan includes what you call embedded productivity savings of approximately $704 million and of that, for the test period it is about $370 million.

So my first question is, first of all, can you explain again what you mean by embedded?

MR. SPENCER:  Sure.  So you are correct in your numbers, and I will focus in on the $370 million for the test period.

But that is expenditure that we have already accounted for in our test year spend, be it capital or OM&A.  So we are -- we have factored those productivity benefits into the application.  We're not seeking recovery on those costs.  I guess the corollary is had we not untaken these productivity initiatives, both defined and undefined, we would have had to seek an incremental 370 million dollars of expenditure.

So we have made the commitment that based on legacy initiatives and some forward-looking initiatives, we are not seeking cost recovery of that 370.

DR. ELSAYED:  So the one thing I am struggling with is when you say savings, these are savings compared to what?

MR. SPENCER:  It is a simple question with a complex answer, and perhaps Mr. Jodoin, who is coming up next, I feel best if he would maybe be able to better explain the overall framework and the baselines, et cetera.

DR. ELSAYED:  Okay.  Then in addition to those productivity savings, you identified what you have called progressive productivity.

MR. SPENCER:  Slight clarification.  Progressive is in fact embedded within the embedded, so the 370 million includes $109 million of progressive productivity.

DR. ELSAYED:  So both progressive productivity and embedded productivity, they're all included in your TSP?

MR. SPENCER:  Correct.

DR. ELSAYED:  So you have not identified anything beyond what has already been included in your transmission system plan?

MR. SPENCER:  Correct.  This represents our full productivity view, yes.

DR. ELSAYED:  So how do you differentiate between what you call a productivity initiative and a normal way of doing business, of looking at a better way to do things?

MR. SPENCER:  Both are relevant; thank you for recognizing that.  And some are just our job and our normal way of doing things.  We're always looking to drive safety and cost efficiency initiatives through our business.

What we have included in the $370 million is what we have classified as tier 1 productivity.  And there's a definition, just for the record, on TSP section 1.6, page 3 of 13.

So these are net savings with a direct correlation to a budget or spending forecast reduction, also known as hard savings, which are monitored, tracked and reported on corporate scorecards.

So we also have the other practices, which are the normal force of business, good things to do, potentially it is an avoided cost or deferred cost, just being prudent asset managers and stewards.  Those we generally classify as tier 2 productivity.

So Mr. Jodoin, I think, can talk about the relativity of those and how we use both of them, because they're important just different.

DR. ELSAYED:  Okay.  So I look forward to pursuing that with the next panel.  With that, I think I would like to thank panel 1 very much for your time, and we will now take our lunch break.  We are back at 1:35.  That's a good point to transition to the next panel.  I look forward to that.  Thank you.

MR. KEIZER:  Mr. Chair, I will be not doing panel 2.  Mr. Arlen Sternberg will be appearing for Hydro One in panel 2.

DR. ELSAYED:  Okay.  Again, I forgot if there was any redirect.

MR. KEIZER:  No redirect.

DR. ELSAYED:  Okay, thank you.
--- Luncheon recess taken at 12:35 p.m.
--- On resuming at 1:36 p.m.

DR. ELSAYED:  Please be seated.  Okay.  So maybe we will start off by having you, Mr. Sternberg, just introduce by name your panel so that they can be affirmed, if you can please --


MR. STERNBERG:  So I know Mr. Keizer put in an appearance for me --


DR. ELSAYED:  He did.

MR. STERNBERG:  -- Arlen Sternberg of Torys, counsel to Hydro One --


DR. ELSAYED:  Okay, thank you.

MR. STERNBERG:  -- I will give you your names first so they can be sworn.  We have a number of people on the panel, starting with -- sure, is that better?  Starting with my left, the far end we have Nancy Tran, Lincoln Frost-Hunt, beside him, Robert Berardi, beside him Samir Chhelavda, next Joel Jodoin, beside him Sabrin Lila and, at the far end, Iain Morris.
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Iain Morris; Affirmed.


DR. DODDS:  Thank you.

DR. ELSAYED:  Thank you.

Mr. Sternberg, do you have any direct examination of your panel?
Examination-In-Chief by Mr. Sternberg:

MR. STERNBERG:  Yes.  In light of the evidence overview presentation that you already heard at the outset of the hearing, I just have very brief examination-in-chief really to introduce the panel to you.

So if we could go through that now.  Starting again at the far end of the table, Ms. Tran, I understand you are vice-president, corporate tax?

MS. TRAN:  Yes, I am.

MR. STERNBERG:  Please briefly describe your area of responsibility.

MS. TRAN:  Overall responsibility for income tax and excise tax.

MR. STERNBERG:  And next, Mr. Frost-Hunt, I understand you are vice-president, IT operations?

MR. FROST-HUNT:  That is correct.

MR. STERNBERG:  Please briefly describe your area of responsibility.

MR. FROST-HUNT:  I am accountable for the operation of Hydro One's technology assets.

MR. STERNBERG:  Next, Mr. Berardi, you are vice-president, shared services?

MR. BERARDI:  That's correct.

MR. STERNBERG:  Please briefly describe your area of responsibility.

MR. BERARDI:  I am accountable for supply chain facilities and real estate, fleet services, as well as helicopter operations.

MR. STERNBERG:  Thank you.

Mr. Chhelavda, you are director, corporate accounting and reporting?

MR. CHHELAVDA:  That's correct.

MR. STERNBERG:  Please briefly tell us what your area of responsibility is.

MR. CHHELAVDA:  My area of responsibility is effectively the corporate controller function, so it's corporate accounting, external reporting, regulatory accounting, accounting policy and research, and expense management.

MR. STERNBERG:  Next, Mr. Jodoin.  You are director, strategic finance?

MR. JODOIN:  That's correct.

MR. STERNBERG:  Please briefly tell us what your area of responsibility is.

MR. JODOIN:  At a high level, my team leads the development of the corporate business plan, the calculation of associated revenue requirements, and the much talked about productivity governance framework.

MR. STERNBERG:  Next, Ms. Lila, you're a director, compensation and human resources analytics?

MS. LILA:  Yes.

MR. STERNBERG:  And what --


MS. LILA:  So my team manages the compensation functions for Hydro One, as well as all of our reporting for HR and for analytics function.

MR. STERNBERG:  Panel members, I will come back in a moment to Mr. Morris, who is an external consultant who we are seeking to have qualified as an expert.  But just before I ask him a couple of questions, I have one question that I would ask each of the panel members in turn to respond to, and that is, the written evidence that pertains to each of your areas of responsibility in this application, do you adopt it as your evidence in this hearing?

MS. TRAN:  Yes, I do.

MR. FROST-HUNT:  I do.

MR. BERARDI:  Yes, I do.

MR. CHHELAVDA:  I do.

MR. JODOIN:  I do.

MS. LILA:  Yes, I do.

MR. STERNBERG:  And turning then to -- if I may, to Mr. Morris.  I understand you are a partner of Mercer Canada?

MR. MORRIS:  I am.

MR. STERNBERG:  And you are the author of the report at Exhibit F-04-01, attachment 2, which is the report entitled "Compensation Cost Benchmarking Study, Hydro One Networks Inc."?

MR. MORRIS:  That's correct.

MR. STERNBERG:  I understand you have many years of experience in respect of employee compensation and benchmarking?

MR. MORRIS:  I do.

MR. STERNBERG:  About how many years of experience in that field?

MR. MORRIS:  Thirty, 38.

MR. STERNBERG:  Now, Panel members, I would tender Mr. Morris and ask that he be qualified in the same capacity as he was qualified last year in the last Hydro One Distribution proceeding, which was EB-2017-0049, in which he was testifying about the same study that he is here speaking to in this proceeding.

And that capacity was as an expert in employee compensation and benchmarking.  And I haven't spoken to all of the parties today about that proposed qualification.  I have had a chance to speak to some.  I am not aware of any objections, but I would note that there weren't any objections last year to that proposed qualification.

So I can, of course, assist by taking you through Mr. -- more of Mr. Morris's background, but I wasn't intending to unless that would be useful or unless any other party has an issue with the proposed qualification.

DR. ELSAYED:  Does anyone have any comments or questions about that?  No.  Okay.  Granted.

MR. STERNBERG:  Thank you.  And just again -- not to turn to it now, but just so the panel is aware, Mr. Morris, is there a summary, a CV or bio, that is included in your report?  I believe it is at page 34.

MR. MORRIS:  That's correct.

MR. STERNBERG:  Thank you, panel.  That covers my examination-in-chief.  We're ready to turn it over to other parties for questioning.

DR. ELSAYED:  Okay, thank you.  I think it is Mr. Dumka.  You are up next.

MR. DUMKA:  That's correct.
Cross-Examination by Mr. Dumka:

MR. DUMKA:  Hello, panel, I am Bohdan Dumka.  I'm here representing the Society of United Professionals.  the series of questions I am going to ask are really, I assume, the last three people on the north side of the panel are the ones who will be answering them, so I guess everybody else can relax for now.

And basically what I am going to be asking questions on -- or trying to get clarification on assumptions that were applied to developing the compensation costs.

I provided the three pages with compensation costs.  That's Exhibit F-04-01, attachment 5.  I don't really think I am going to be referencing them, but just in case, they're at the front of the compendium that I have.

And I guess we should get a compendium number before I leave, but the other thing is the assumptions on the Mercer study, that Mr. Morris is here for --


MS. DJURDJEVIC:  Before you launch into your cross-examination, can we make your compendium an exhibit?

MR. DUMKA:  Yes.

MS. DJURDJEVIC:  So we don't forget about it later?  That will be K4.5.
EXHIBIT NO. K4.5:  SOCIETY OF UNITED PROFESSIONALS CROSS-EXAMINATION COMPENDIUM FOR PANEL 2.

MR. DUMKA:  And lastly, I am going to be asking -- or seeking some clarification on assumptions in the SEC interrogatory 55, which is in the compendium.  That's where the Mercer market median results are applied to the Hydro One OM&A.  There's also a similar exhibit with the capital.  I won't be asking specifically on that, but presumably the same assumptions, et cetera, apply to that.

So that is basically where I am going.  If I could ask that we turn up page 6 of the compendium.  That is page 29 of Exhibit F, tab 4, schedule 1.  And f we can just scroll down.  I just want to touch on some of the thoughts in 7.5.4.

And basically, what we find there is the statement that is part of the collective bargaining settlements with the PWU and the Society in 2015, represented employees are eligible to receive shares of Hydro One Limited.

And the philosophy is discussed and all of this sort of stuff.  So at the bottom of that page, it says:

"The first share grant for eligible PWU representatives or employees was issued on April 1s, '17 and the first grant date for Society represented employees was April 1st, in '18, a year later."

And if we go to the top of page 30, it's the next page in the compendium, the first full paragraph, it's stated the pension costs were reduced by increasing employee pension contributions and reducing future pension benefits, and so going towards the 50-50 cost sharing of pension benefits.

So my first question is -- just as an aside, if somebody could just confirm that the increase in pension contributions more than offsets the costs of the share grant program.

MS. LILA:  Yes.

MR. DUMKA:  Thank you.  And just looking at this broadly, would it be reasonable to view this contract bargaining as kind of a quid pro quo, in that Hydro One is given employee share grants under certain conditions and in return the -- in return for higher employee pension contributions and reduced future pension benefits?

So it is, broadly speaking, a one for-one-type arrangement?

MS. LILA:  There was a complex round of collective bargaining that occurred in 2015 and I think, as you described, it was sort of a give and take undertaking and some of these offsets, combined with some of the other compensation elements, would offset the pension.

MR. DUMKA:  Right, okay.  If we could turn to page 8 of the compendium; this is page 38 of the same Hydro One Exhibit F, tab 4, schedule 1.

So if we go towards the bottom of the page there, basically what it says -- you know, we have a discussion on how Hydro One took assorted steps to increase the employee pension contributions.  Just what we were talking about, reducing benefits.

So Hydro One has taken various steps to reduce pension costs.  These include steps to increase employee contributions and reduce benefits with all employee groups.  Hydro One has demonstrated this commitment to reducing pension costs by -- if we flip over to the next page, there is a number of things.

The second bullet is increasing employee pension plan contributions for all employee groups.  And let's see, if we go to the last bullet, reducing future service benefits for all current PWU and future PWU employees as well as Society legacy pension plan members by adjusting the number of years for determining the final average earnings from 3 years to 5 years, and increasing the early undiscounted pension eligibility from Rule of 82 to Rule of 85, both effective March 31, 2025.

So I assume that I am correct in assuming that these reduced future pension benefits are in the current PWU and SUP contracts, labour contracts?

MS. LILA:  Yes, these were negotiated as part of that same round of collective bargaining in 2015.

MR. DUMKA:  Right.  So they're sitting in the -- signed off the approved contracts with the two employee groups?

MS. LILA:  Correct, correct.

MR. DUMKA:  Okay.  That is what I wanted to know.

Now, my question is, in the compensation benchmarking study that Mercer has done, have they taken into account the reduced future pension benefits as per the existing labour contracts in the costing of Hydro One pension benefits?  And if not, why not?

MR. MORRIS:  I believe that there are two factors that are taken into account in the benchmarking.

The plan design as it stands -- the plan design is a future plan design, so we look at future pension as well -- and the actual employee costs are deducted from the value of the pension that is calculated through the relative value analysis that we do.

And so increasing the employee contributions reduces the value of the pension for the purposes of the benchmarking, for example.

MR. DUMKA:  Okay.  So you have factored in the reduced future benefits as of April 1st, 2025, in the methodology that you used to estimate the value of those pension benefits in the benchmarking study?

MR. MORRIS:  I think it is a weighted -- it's weighted in the analysis.  So the current plan is more heavily weighted, and we also look at the mix of -- well, it phases in, as that actually takes hold in terms of the new benefit design.

MR. DUMKA:  Okay.  So just to restate or confirm that it is factored into future decline of benefits.

MR. MORRIS:  That's correct, yes.

MR. DUMKA:  Okay, that's fine.  Okay.  If we can flip over to page 10 of the compendium, what this is, it is an extract, this is page 10 and 11 of the compendium or pages 48 and 49 of the new Hydro One Pension Valuation, that is Exhibit JT-2.3.1, attachment 1.

So these pages outline the employee pension contribution assumptions used, starting under the title there, "employee contributions."  A good place to have that.

So I am just looking at these briefly rather than all of those graphs that are in the exhibit. In Exhibit F, tab 4, schedule one, there's several charts in there which picks up this data.  The only reason I am looking at this is it is very clear the change in employee contributions in 2017 versus 2018.

We see that -- if we go through each one of the employee categories, we see that up until March 31st, 2018, there is a lower employee pension contribution than there is after April 1st, 2018.  That's the only reason I've got this here.

If you go through each one of the categories, you will see the employee contributions do go up by various levels.  So basically all I want to do is just confirm that the data here is consistent with the graphs in Exhibit F, tab 4, schedule 1.

MS. LILA:  Yes.  So the information here is reflective of the information in the evidence.

I would also add that over the six-year period from 2013 to present, employee contributions have increased from 20 percent to now over 40 percent as a whole.

MR. DUMKA:  Okay, thank you.  And this is sort of self-obvious, so if somebody could just confirm that again these are the values for pension contributions that were used to price-out the labour, the compensation cost in this application.

So, for example, in the exhibit F-04-01, attachment 5, are these the assumptions that were made to cost-out those compensation costs?

[Witness panel confers]

MR. JODOIN:  Sorry about that.  What we were just checking is, as you will note embedded in your compendium and as the report was filed, this relates to December 31st, 2018.

As you know, our business plan which underpins this application was approved by our board on December 14th, 2018.  So what we were just checking was to ensure that in the prior study, which would have been from the prior year, they were consistent and we confirmed that they are, so, yes.

MR. DUMKA:  Okay, thank you.  Now, just a further point of clarification.  What you have in the charts and what are on these two pages from the valuation is there is a change in the employee pension contributions as of April 1st, 2018.

Would I be correct in assuming on a per FTE basis or however you want to multiply it out that there would be a full-year effect in 2019 of the higher employee pension contributions?

In 2018 it is effective April 1st, so we've got eight months of the higher employee pension contribution, and then in '19 you've got 12 months at the higher level.

So there would be a ramp-up, or whatever you want to call it, between '18 and '19.

[Witness panel confers]

MS. LILA:  Yes, you are correct.  Just to clarify, there is a contribution level up to the YMP, and then there is a different contribution level which is increased after YMP, and the values are slightly different depending upon which plan we're speaking about.

MR. DUMKA:  Right.  No, understood.  Understood.  Yes.  Thanks.  And so we've got this full-year impact in '19 and on a per FTE basis, because the headcounts change in how they're allocated between transmission and distribution, but overall we would see the same full-year impact in 2020, the rate year?

MS. LILA:  Correct, yes.

MR. DUMKA:  Okay.  If we could just -- let's see.  No, I am not going to go there.

If we can go to page 13 of the compendium.  And this is -- I've got it all -- I am not going to be referring to each page.  This is SEC IR 55, where adjustments -- or I should say the impact of being at market median in OM&A is applied to the Hydro One OM&A, and there's some further adjustments that are made here.

And I just want to focus on the table at the bottom of the page.  It continues on the next page with the pension valuation adjustments.  But I just want to focus on the front end of the table there.  I am not really looking at the numbers per se.

And again, as mentioned earlier on, there is an undertaking, JT2.9, which replicates this for capex.  So the same sort of assumptions, et cetera, presumably, apply to both.

So my understanding is that the Mercer study is based upon October 2017 compensation costs and, as such, would not reflect Hydro One's reduced pension contribution costs beginning in 2018, which result from the increase, employee pension contribution cost we just touched on; is that correct?

MR. MORRIS:  In terms of -- the study was done in 2017.  So all of the base pay information, the actual bonuses paid were effective October 1st of that year.

When you are looking at the value of pensions, because it is a relative value process, it is a forward-look.  And so it does look at the actual pension plan design, in terms of the formula, projects that forward, and then deducts any contributions towards that value that's created, employee contributions, to get an employer-provided value.

It is a methodology that is applied in a standard way across all of the pension plans that are included in the survey.  So those plans of other organizations.

And the intent of the approach is to use a standard set of assumptions and a standard set of return expectations.  So it is a generalization that doesn't necessarily line up perfectly with the valuation for the Hydro One plan.  So there can be an apparent disconnect between those figures because the intent and methodology is quite different.

MR. DUMKA:  Okay.  So looking at this table, which has assorted adjustments, the pension reduction OM&A, the OPEB reduction OM&A, et cetera, where, amongst all of these values -- perhaps it is the very first one, the Mercer median TX OM&A figure -- where would the increased pension contribution cost in the rate year be reflected?  Is there any specific adjustment for that?

[Witness panel confers]

MR. JODOIN:  Our understanding is that would be included, correct, in the 5.5 pension reduction that you have outlined.  But not only that.  I know you have it on the next page, but we have actually updated that recently and have provided an updated pension reduction on, I guess, page 14 of your compendium, right at the top.  So those two line items.

MR. DUMKA:  Okay.  So basically what you're telling me, by making these adjustments, they were not baked into the compensation cost for 2020, because you have to make these adjustments.  Is that what we're seeing?  Or are you saying -- maybe I have misinterpreted -- that in the 5.5 million, for example, you're saying a chunk of that is increased employee pension contributions?

[Witness panel confers]

MR. CHHELAVDA:  So perhaps I can try to answer the question.  I mean, there probably are multiple factors that would give rise to the reductions.  So one would be -- one would be the increased employee contributions, and there would be other factors as well.  It would be part of the reasons for the reduction.

Does that answer your question?

MR. DUMKA:  Okay.  So basically you are confirming that the increased employee pension contributions are reflected in the pension reduction OM&A figure of 5.5 million?  Is that what you're saying?  It is completely captured in there?

MR. CHHELAVDA:  That is our understanding, yes.

MR. DUMKA:  Okay.  Unless you want to take an undertaking to confirm.  I realize you spent a bit of time discussing it.

[Witness panel confers]

MR. CHHELAVDA:  So on a best efforts basis, we will look at the 5.5 million OM&A reduction and try to classify it into categories, like what's causing the 5.5 million.


MS. DJURDJEVIC:  We will make that undertaking J4.8.
UNDERTAKING NO. J4.8:  ON A BEST-EFFORTS BASIS, TO LOOK AT THE 5.5-MILLION-DOLLAR OM&A REDUCTION TO CLASSIFY IT INTO CATEGORIES


MR. DUMKA:  Just one last question on this page before we move to another one.  In the compendium, on lines 11 and 12, it is stated that the CPI assumptions for 2017/18, et cetera, are these figures.


My question is which CPI is this?  Is this the Ontario-specific CPI, or the Canada CPI that you are using here?


[Witness panel confers]


MR. JODOIN:  I believe it is the Ontario CPI.  These figures actually come from our load forecasting team, which is panel 4.  So we could either, subject to check that with them, or you could repose that to panel 4.


MR. DUMKA:  If you could confirm, that would be good.


MR. JODOIN:  Sure.


MR. DUMKA:  My one comment on this is if you applied the Ontario CPI, 11 of the 19 companies in the Mercer study are not in Ontario.  In fact, I think about five of them are in Alberta, there is one in B.C., and then just pretty well all of the other provinces.


So if you just applied the Ontario CPI without doing some sort of weighting with Canada CPI, I don't know if that would be appropriate for this application.  That's my only comment on that.


But if you could confirm what it is that was used, which CPI.


MR. MORRIS:  There was only a single CPI figure used to project the data forward, just to clarify that.  So that doesn't need to be looked at.


And I believe it to be the Ontario CPI.  Historically, we have seen those figures be relatively close together across the country and when projected forward, there is always some kind of margin of error in those projections.


So frankly, we thought that to use a single assumption was not an incorrect approach, but the projected figures were provided by Hydro One.  So just in terms of what do they represent, I would leave that to them to clarify.


MR. DUMKA:  Okay, thank you.  If we could just turn to page 16 of the compendium briefly, I don't really want to spend a lot of time on this, but just looking for some clarification.


When I was looking into the earlier questions I posed with regards to share grants and this, that and the other thing, what I discovered was that on a FTE basis, the value of the share grants actually decline from between 2017 and 2020 and that's what I have tried to document here.


I know in earlier discussions at the technical conference, et cetera, you have to look at the Hydro One total on a per FTE basis and do your calculations, just simply because of how the FTEs shift between T&D and 2017 and 2020.  You can't just look at the transmission compensation cost.


So that is what I have tried to do here, you know.  So I will ask a question subject to check, assuming the calculations I have done are correct.  Just looking at the last column, just to provide some clarification, I have worked out the change on a per FTE basis of the share grant for both society and PWU, and this is total, transmission and distribution.


Then what I have done is using the FTEs for both categories, I have estimated the decline in the share grant from -- the value of the share grant from 2017 to 2020.


So we've got a total for Society and PWU, that is about a decline of two and a half million, and then I have just estimated the transmission portion based on the figures that Hydro One has provided and the assorted interrogatories and such, like the SEC 55 we just looked at.


So there is a decline in that value, as compared to what would be buried into the Mercer study in 2017.  There is a total impact of about two and a half million of lower compensation costs for Hydro One in 2020, as compared to what's in the Mercer study.


So my question is would this kind of a decline in compensation costs be reflected in that table we just looked at in SEC 55?  Would it be in there?  Or because of the methodology of calculating, would an impact like this have been -- I will say incorrectly left out, something that should have been done?


[Witness panel confers]


MS. LILA:  So just to clarify around the share grant program, in general, the reason that there is a decline in the compensation values is due to eligibility.  Only employees who were employees in 2015 were eligible for share grants.


MR. DUMKA:  Right.


MS. LILA:  Secondly, the additional reason for the forfeiture -- sorry -- is forfeitures.  So employees must be employed at the time of the annual grant, which is April 1st, to receive a share grant.


So the reason for the decline in values is due to the forfeitures that we have seen to date, which are quite significant.  And Mr. Morris can add with respect to the study.


MR. MORRIS:  So these figures, the projected figures that show a lower cost were not reflected in the projections that are in SEC 55?


SEC 55 by and large started with a gap that was established in 2017 and applied factors that did include CPI changes, expected base compensation changes at Hydro One, as well as changes in the marketplace.


So it is a projection that doesn't reflect necessarily nuanced changes at Hydro One -- and you can object to my term nuanced -- nor things that are happening in the marketplace, because we know how the market is moving, in terms of what we expect to see in terms of base wage and salary changes.


We've had to do a projection with some assumptions, and we're assuming that the leverage associated with that in terms of the value of short term, long term incentives, pension, and benefits remain relatively constant.


We know that is not the case, and we do see, in this case, some example of a reduction in cost at Hydro One.


We also know that the firms that are included in the study are -- many of them are doing the same things.  You made reference to Western Canada.  I guarantee you they're doing everything they can to reduce compensation costs as well.


And those aren't reflected either.  I mean, so it's a fairly high-level projection to give a sense of magnitude of the gap, you know, based on information that was at hand.


MR. DUMKA:  Okay, thank you for your clarification.  I am just about at my last question now, and if we can just flip to page 17 of the compendium.


So what this is, it's a Stats Canada inter-city index of price differentials of consumer goods and services annually from 2016 to 2018.


And just as an aside, the table captures pretty well all of the cities which are home to the non-Ontario companies that are included in the Mercer compensation study.

So if -- and this is sort of an all-inclusive type thing.  There's -- just to make it simple, there is a whole whack of numbers that are in these tables.  If you look at the link I provided, there's a line for food, shelter, household operations, furnishings, equipment, clothing, footwear, transportation, et cetera.  So there is a whole bunch of stuff that Stats Can uses to come up with this figure.

And if we take a look at the 2017 data, or actually, any year, you will see that Toronto is the -- has got the highest index of all the cities.  And in fact, if we look at 2017, the Toronto index is about 20 percent higher than Montreal or Saint John and 10 percent higher than for Calgary, and even for Vancouver, which has got a very high cost of living, the index is 103, it's about 7 percent less than Toronto.

So would you agree that this is likely rather representative, may not be precise, but representative of the relative differences in the cost-of-living index between these assorted cities?

MR. MORRIS:  Given the source, I would assume it is correct within the methodology that's used.

MR. DUMKA:  Right, okay.  So -- thank you.

My question is whether Mercer in its compensation benchmarking study had taken into account the potential impact of these sorts of cost-of-living differences on the compensation levels amongst the companies that were included.

MR. MORRIS:  We did not.  And for the reason that we never recommend that client organizations use cost-of-living differentials specifically to establish compensation practices.

Rather, we recommend that they look at labour market values, which are, generally speaking -- do factor in, you know, the labour market and the cost of living in the marketplace.

And historically, Vancouver was an example where cost of living was relatively high, and yet in Mercer's broader studies you find that actual pay levels there are about the national average.

So presumably people see some merit in living in Vancouver and are prepared to do that for, you know, less money, I guess, net because their compensation -- or their cost of living is higher.

Calgary would be an example that was more or less the opposite.  I know housing increased a lot, but wage levels in Calgary were particularly high, not because cost of living was extremely high.  It was the demand for labour that drove that up.

And so our studies all focus on cost of labour, generally speaking.  We do use CPI in the projection, because a very high-level view of CPI changes.  So these are absolute values.  CPI changes do tend to be highly correlated with wage settlements and underlying salary increases that we see broadly in the marketplace, but not absolutely correlated.  It is just -- it is a good indicator, though.

So just to confirm, cost of living was not reflected in the study that Mercer did.

MR. DUMKA:  Okay, thank you.  So I guess in the same vein you would say the same with regards to different provincial tax regimes?  You mentioned Alberta, where there's zero percent PST, as compared to 8 percent in Ontario, and there are other differences with regards to provincial income taxes and such.

So would I be correct in assuming, then, that your study did not take into account differences in provincial tax regimes?

MR. MORRIS:  That's absolutely correct.  We don't take tax regimes into account.  First off, it is well beyond the employer's control, generally, and subject to change with changing governments and budgets.

It is also very, very difficult when you do a study of this type that looks at, you know, pay levels for many individual employees to have any clear concept of what anybody's tax burden is, and so we would just not recommend that a company base its compensation program and practices on tax regimes, at least within the country of Canada.  That in our view is best practice.

MR. DUMKA:  Okay.  Thank you for your answers.  That's it.  Those are all of my questions.

MR. JODOIN:  Mr. Dumka, in the effort to potentially avoid one of the undertakings that we agreed to at the beginning, my colleague here is going to bring up some evidence that may satisfy the request in order to try and limit undertakings.

MR. CHHELAVDA:  If we can go to JT2.1.3, attachment 1.  It will be page 5 of the attachment.  Sorry, 2.3.  JT2.3.  Thank you.

Thank you.  So if you look on the top of the table, the fourth line, where it says "estimated member contributions", you will see that there is an increase from '17 to 2018.  So the increased employer contributions are factored in.

So it would be factored into the OM&A line reduction on page 13 of the compendium that you have provided.

MR. DUMKA:  Okay.  My question to you is that there is a $10 million figure at the top of the table in SEC 55, and that is the market median adjustment that has to be made.  That's $10 million.

So what we're looking at, if we look at SEC 55, is we start off with the $10 million reduction, and there's a number of adjustments like increased -- or reduced pension costs and whatever else.

So --


MR. JODOIN:  Sorry to jump in.  I think you said $10 million reduction?  Just so everyone is clear, what that represents is the transmission OM&A component of the over-median amount.

MR. DUMKA:  Right.

MR. JODOIN:  And then subsequent to that we have identified reductions to bring us down.

MR. DUMKA:  Right.  So this is just like -- the 10 million is just the transmission OM&A, as opposed to the overall reductions in Hydro One compensation to bring it to market median.

So my question is, if I look at it, the $10 million reduction in OM&A takes into account that in 2017 employee pension contributions were lower.

So I just want to clarify, then, that the pension reduction that we see, I think it is -- I should open up SEC 55.  I think it is about $5 million, is the first --


MR. JODOIN:  5.5 million.

MR. DUMKA:  5.5 million.  So are we saying, then, that the 5.5 million reduction for pension takes into account the increased employee pension contributions?  Is that what we're seeing?  Is that what the inference is of that?

MR. CHHELAVDA:  Yes.  So it would be included in that 5.5.

MR. DUMKA:  So it is definitely in there.

MR. CHHELAVDA:  Yes.

MR. DUMKA:  Okay, thanks.

MR. JODOIN:  Does that satisfy the need and we no longer have to produce the undertaking that we agreed to?  Just so that we're clear.

MR. DUMKA:  Yes.  If you're confident that the -- that that reduction is there or the impact of the employee pension contributions going up is reflected in the 5.5, that's fine.

MR. JODOIN:  Fair enough.

MR. DUMKA:  Yes, thanks.

DR. ELSAYED:  Thank you.

Mr. Stephenson.


Cross-Examination by Mr. Stephenson:

MR. STEPHENSON:  Good afternoon, Mr. Chair, and good afternoon, panel.  My name is Richard Stephenson.  I am counsel for the Power Workers' Union.

If I can, the first place I would like to go, it's in Mr. Dumka's compendium that you just had in front of you, K4.5, page 3.  This is -- the next three pages are Exhibit F, tab 4, schedule 1, attachment 5.

This chart got updated subsequently, as I understand it.  And I just want to make sure I've got the most up-to-date version of it, because it appears in several places in the evidence.

Is KT2.1 the most up-to-date version, or is it somewhere else?

MS. LILA:  So SEC 58 is where we have the most updated version.  KT2.1 reflects additional analysis done by the OEB Staff on SEC 58.

MR. STEPHENSON:  Right.  But can I just -- does Hydro One take any exception to whatever analysis Board Staff did on that document, or you're fine with that?

MS. LILA:  No exception.

MR. STEPHENSON:  Okay.  I don't really -- to my mind, I don't need to go between the various versions of it for the purposes of my questions.

If we could just actually use the version that is in the compendium 4.5 for a moment, because I don't care about the very specific numbers, just directionally.

The first place I want to go to is on page 4 of the compendium, under the heading "transmission PWU represented."  Do you see that?  Okay, you've got that?

I just want to -- there is an uptick in the total compensation numbers there for transmission PWU represented going from 2019 to 2020 and then another one.

But can you just confirm for me that the largest driver of that increase is the increase in the number of FTEs?

MS. LILA:  Yes.

MR. STEPHENSON:  Okay.  And the increase in the number of FTEs that is occurring -- and is reflected in the very next line in the document -- that is, I take it, Hydro One's intended and anticipated response to its staffing needs arising from the go-forward work program that's reflected in the application?

MS. LILA:  Yes.

MR. STEPHENSON:  And so it's the work program that drives the FTEs, the FTEs drive the compensation cost?

MS. LILA:  That is correct.  In our analysis, we look at what is the requirement for the work program and then staff accordingly through our various flexible work force arrangements.

MR. STEPHENSON:  Okay.  Just a couple of clarification questions.  In this block of costs with respect to transmission PWU represented, one of the line items is burdens.  Do you see that?

MS. LILA:  Yes.

MR. STEPHENSON:  Okay.  And that appears for virtually all of the blocks for all of the various groups of employees, right?

MS. LILA:  Correct.

MR. STEPHENSON:  And can you just assist me and remind me what that grab-bag of cost is that falls under the heading "burdens"?

MS. LILA:  So labour burdens would be inclusive of things like pension, benefits, CPI, EI, all kinds of employer obligation.

MR. STEPHENSON:  And so just on that point, you've provided an update relatively recently regarding a change in your pension costs by virtue of your new valuation.

And I just wonder wouldn't that change in some sense flow through into this chart under that "burdens" heading?

MS. LILA:  It should.  We did not update this piece of evidence, and our update was relatively close to the timing of this hearing.  So we updated the key elements of our evidence.  We did not update this table.  So there would be further reductions in the pension costs in this table.

MR. STEPHENSON:  I can't help but think, just on the basis of history, that you are going to get taken back to this table by people other than me.

Are you able to say whether it makes a material change to this, or it is something that we care about?  Because if it is in any sense material, I am going to ask you to update it.  Because if I don't, somebody else will.

MR. CHHELAVDA:  This may be helpful.  Prior to this on the -- based on the December 31st, 2017, actuarial valuation, the employer normal costs -- so the employer normal actual cost as a percentage of payroll was 13.3 percent.

As a result of this valuation, it is now 11.4.  So effectively, you're looking at a 2 percent reduction.

MR. STEPHENSON:  Yes, but the burden number that is here is a bundled cost.

MR. CHHELAVDA:  Agreed.

MR. STEPHENSON:  So we can't take two percent off that.

MR. CHHELAVDA:  Agreed.

MR. STEPHENSON:  So assuming it is not a gigantic amount of work, I am going to ask for an update of this chart to reflect that pension valuation update.

MR. STERNBERG:  Perhaps, panel, we might -- since I know my friend is saying if it is material, he is interested in the information.  I am not sure how much work would be involved or whether it is material.  Perhaps, given that, we might look into what work would be required to update it and whether it is material and then come back.

If it can reasonably be done, we will.  If we have any concern with that, we can advise.

DR. ELSAYED:  Is it something you respond to now?

MR. JODOIN:  I guess the way I would put it is in quantum itself, the pension update was material and that's why we updated our revenue requirement.  We talked about it at the opening presentation.

With respect to the compensation table itself and assessing trends, it may not directionally change any of the underlying narrative in the application.

That being said, it is something that we could very easily do and flow through and if it is something that the Board is interested seeing in seeing a flow through, and yourself, we are more than happy to do that.

DR. ELSAYED:  Okay.  If we can give that an undertaking number.

MS. DJURDJEVIC:  That will be undertaking J4.9.

DR. ELSAYED:  Thank you. 
UNDERTAKING NO. J4.9:  TO UPDATE THE CHART AT EXHIBIT K4.5, PAGE 4, TO REFLECT THE PENSION VALUATION UPDATE

MR. STEPHENSON:  Just before we leave this chart, there was just one other clarification question that I needed to get some understanding on.

There is a heading further down on the same page called "temporary transmission."  Do you see that?

MS. LILA:  Yes.

MR. STEPHENSON:  Okay.  And in that block, you will see there is a line called overtime.

MS. LILA:  Yes.

MR. STEPHENSON:  Okay.  And is that a reference to sort of the gross overtime for all of the categories above that?  Because it doesn't seem to be allocated to anybody in particular.

MS. LILA:  Yeah, that's correct.

MR. STEPHENSON:  Okay.  Just looking at the line, I am assuming that it is largely driven by the casual trades number, because the numbers just seem far too big to be driven by any of the other categories.

MS. LILA:  I wouldn't be able to tell that just looking at the information.  We would have to...


MR. STEPHENSON:  Well, here, you can.  Just bear with me, okay.  Take a look at the -- take a look at the, just for example, the 2019 numbers, okay.  You've got 13 million in overtime.

MS. LILA:  Hmm-hmm.

MR. STEPHENSON:  Okay.  The actual base amount going to PWU people is three million.  I am assuming that you're not getting 13 million of over time out of 3 million of base costs, right?

MS. LILA:  Yes, you are correct.

MR. STEPHENSON:  Whereas you're looking at casual trades, it is 134 million.  That is where the overtime is coming from, right?

MS. LILA:  Correct.

MR. STEPHENSON:  We can assume that is more or less the same in the other years, right?

MS. LILA:  Correct.

MR. STEPHENSON:  Just to be clear, these casual trades that are reflected there, these are folks that I think we have heard about previously.  This is your construction work forces essentially under your EPSCA agreement, under some direct agreements with CUSW and so forth, right?

MS. LILA:  Yes.

MR. STEPHENSON:  Insofar as we're talking about the EPSCA agreement at least, the rates paid there are province-wide rates for any employer, Hydro One pays exactly the say rates as anybody else pays, right?

MS. LILA:  Correct.  Basically it is part of the sector of bargaining process that occurs, so they are consistent.

MR. STEPHENSON:  Okay.  All right.  Thanks for that.  The next place I wanted to go to also comes out of this same K4.5 compendium.  And Mr. Dumka took you to this as well.  It is SEC 55.

And the exercise that you were undertaking here, as I understand it, is that if the Board ordered that there be a compensation cost disallowance to the level of Mercer P50, this is your calculation of the dollar amount in this case in relation to OM&A.  Right?  That's where we find -- that's what this interrogatory is telling us, correct?

MS. LILA:  Yes, that's correct.

MR. STEPHENSON:  Okay.  And it did get updated in your -- as a result of the pension update.  Correct?

MS. LILA:  Yes, it was updated to reflect the pension.

MR. STEPHENSON:  Right.  And I think that is JT2.30.  Am I right there?

MS. LILA:  JT, pardon?

MR. STEPHENSON:  2.30?

MS. LILA:  31.

MR. STEPHENSON:  31.

MS. LILA:  31.

MR. STEPHENSON:  Okay.  And then there is another similar analysis done, and I believe it is at JT2.9, where you do the same exercise with respect to capital.  Correct?

MS. LILA:  Yes.

MR. STEPHENSON:  Okay.  And so if the Board was interested in doing that exercise, that is, a disallowance to Mercer P50, it would be looking at those two documents that would give them the math that gets them to the number.  Correct?

MS. LILA:  Correct.

MR. STEPHENSON:  Okay.  And just with respect to the capital number that's contained at JT2.9 -- and you don't actually have to look at it.  This is a conceptual question -- that number, whatever the dollar amount is there, that's not a revenue-requirement number, as I understand it.  That is a capital number that then has to flow through your capital model into a revenue-requirement number?

MR. JODOIN:  That's correct.  That capital would have to be translated into an in-service addition first, and then that would be translated into rate base and subsequently to revenue requirement.

MR. STEPHENSON:  Just in the usual way you do with all of your other capital expenses?

MR. JODOIN:  Exactly, that's right.

MR. STEPHENSON:  Okay.  Can I get you to turn to -- I hope I have got the number right here -- I thought it was JT2.31, but maybe it is 32.  It is the document that looks at the value -- this is in your recent update -- the amount of a reduction to get you -- on the pension side, if it went to a 50/50 contribution amount.

I think -- bear with me -- yes.  It is JT2.31.  Okay.

And just to be clear, the update on SEC 55 is JT2.9.  I think that's correct.  Okay, good.

So what I was -- and I am not -- I am not going to question you about the calculation here, but this is the point I was going to get to.  The Mercer study is a total compensation study, inclusive of a pension value analysis.  Correct?

MR. MORRIS:  Yes, correct.

MR. STEPHENSON:  Okay.  So if the Board ordered any kind of a reduction to get you to Mercer P50, and then it looked at the kind of analysis here in JT2.31 and thought about doing some kind of a disallowance based upon this analysis, you are really double-counting, aren't you?

Like, any pension value differential which gives rise to a disallowance is already embedded in a Mercer-based disallowance.  Correct?

MR. MORRIS:  I guess I'm not the accountant.  I would assume too, because I am not totally sure what JT2.31 represents, but, I mean, the value of pensions in the marketplace and the value of pensions paid by Hydro One are reflected in our analysis and are taken into account in the total compensation gap, as you described.

MR. STEPHENSON:  Let me approach this in a slightly different way, which I think will make it very easy for you to answer.

MR. MORRIS:  Me?

MR. STEPHENSON:  Yes.

MR. MORRIS:  Okay.

MR. STEPHENSON:  Which is, if the Board did a disallowance that, on the basis of the calculations reflected in SEC 55 and so forth, that got you to P50, okay, let's assume that is done, and then the Board did another disallowance on top of that in relation to compensation, the effect of those two disallowances by definition would get you to a number below Mercer P50.  It would get you to P49 or P48, right?  That is just how the math works.

MR. MORRIS:  I can agree with that math.

MR. STEPHENSON:  Okay.  Just on the pension question for one minute.  I just want to come back to an issue which has been litigated before and presently, and this is in respect of the contribution holiday issue.

There is no reference in your evidence to contribution holiday in relation to any of the application period.  Is that because of where Hydro One stands vis-a-vis FSCO, in terms of its eligibility to take contribution holidays?  Or is it as a result of any other factor?

MR. CHHELAVDA:  Well, as you are aware, the funding would have changed.  So Hydro One is no longer -- or actually, Hydro One is not eligible to take a contribution holiday based on the rules, which dictate that the plan must be at a transfer ratio of 105 percent to take a contribution holiday, and our plan is currently at about a 73 percent ratio.

MR. STEPHENSON:  Right.  And you are not forecasting that you are going to get to 105 percent at any point during the period governed by the application.

MR. CHHELAVDA:  That's correct.  In order for us to get there you would have to have, I think the study says, about a 56 percent per annum return for the next two or three years, which is virtually impossible.

MR. STEPHENSON:  Okay.  And in the prior cases there had been some suggestion that there was some element of uncertainty around this question about the funding rules and what you are allowed to do under FSCO's rules.

Is there -- from Hydro One's perspective, is there any uncertainty with respect to that question?

MR. CHHELAVDA:  There is not.  I can draw your attention to, I believe it is OEB 203.  So it is Exhibit I, tab 1, schedule 203, and it's going to be attachment 2, which is a letter from FSRA, which is -- place FSCO, and Hydro One has asked specific pointed questions and they have responded.

In effect, what this says is Hydro One would not be eligible to take a contribution holiday effective March 1st, 2018.

MR. STEPHENSON:  Thank you, panel.  Thank you very much, Panel.  Those are my questions.

DR. ELSAYED:  Thank you.  Maybe we will go next to -- is it Dr. Higgin that is going to do this now?

DR. HIGGIN:  Yes, thank you.
Cross-Examination by Dr. Higgin:


DR. HIGGIN:  Thank you, Mr. Chair.  Good afternoon, everybody, panel and the witnesses.

My name is Roger Higgin and I am a consultant to Energy Probe Research Foundation.

I am also, unfortunately or not, going to also deal primarily with compensation and pension costs.

So I will be using the second part of the Energy Probe compendium, K1.3, which was filed earlier in the week, and I will be starting at page 18 of that with this panel.

So does everybody have copies of that compendium?  All right, I will proceed.  Thank you.

So just let the witnesses be ready.  Are you ready?  Thank you.

So this exhibit, as it says, is Exhibit A, tab 3, schedule 1, pages 41 to 43, because the two tables were actually on two different pages.  I will just spend a brief time on the first table, which is table 9.

What I want to highlight in that is the bottom line that talks about total transmission OM&A.  Can you see that line at the envelope level?

MR. JODOIN:  Yes, we can see that.

DR. HIGGIN:  Okay.  So just to summarize, it goes from 419.2 million.  It drops in the plan and then drops further in the bridge, and then goes back for the test year, which is what we're talking about mostly today, to 375.8 million.  Correct?

MR. JODOIN:  I can see that, that is correct.

DR. HIGGIN:  So what I just want to do is to take that number and then look at table 10 briefly.  So just tell us what this says about total compensation and how --particularly, how does this relate to the OM&A number for 2020 of 375.8 million.

MR. JODOIN:  Sorry.  Could you just rephrase the question?  Are you just asking for how do they relate?

DR. HIGGIN:  Yes.  I am asking you to look at the line in the table.

MR. JODOIN:  Sure.

DR. HIGGIN:  That has OM&A for transmission compensation and how does that -- as a percentage, let's talk about proportion of the total OM&A, 375.8.  Then we will talk a bit about the capitalized bit in a minute.

MR. JODOIN:  I think, at a high level, what you can take away is table -- the table 9, as referenced in the compendium, this represents Hydro One's total OM&A ask for -- if we just zone-in on 2020, which represents the test year -- 375.8 million.

Of course, embedded within total OM&A would be labour costs, associated labour costs or compensation, if you will.

And table 10, as outlined in this compendium, represents, I believe, a summary that was pulled from the compensation exhibit, or the compensation table that we have referred to earlier, where we try to isolate the transmission compensation by capital and OM&A.

DR. HIGGIN:  Right.  And you just discussed briefly with Mr. Stephenson about the capital amount.  Could you just repeat that 101 for me, because I am a simple person, how that works?  And then the total amount of compensation is the bottom line.

MR. JODOIN:  Sorry, when you say repeat the 101...I guess what --


DR. HIGGIN:  You told Mr. Stephenson about the capital amount, and then I want to understand how the total compensation -- which is in the table we will go to in a minute -- of 684 million relates to those figures.  That's all straightforward.  I am just trying to drill down.  Understand the numbers.

[Witness panel confers]

MR. JODOIN:  Sure.  So what table 10 is intended to represent is the total compensation that is allocated to our transmission segment.

In some cases, where there are shared resources, be it corporate staff or shared services in fleet or ISD, allocations have to exist because those employees do work for both our transmission and distribution segments.

Table 9, the table reference above again the total OM&A, it includes your labour materials and equipment and our expenditures.

I think part of the conversation that we had with Mr. Stephenson implied that as you see growth in work program in general, you should naturally see a rise in your compensation through the support of full time equivalent or FTEs.

Zoning in specifically at OM&A, we do see a growth from our bridge year to our test year, also cognizant of the fact that our test year is below any actual result dating between 2015 through 2019.

On the capital side, there is, as you would have heard from panel 1, a definite need to invest in our assets and a growth in our capital plan.

So we would expect to see a requirement for FTEs and I think that is part of the conversation that we had with Mr. Stephenson.

DR. HIGGIN:  Right, thank you.  So just remember perhaps that number, that is the 2020 number, 684.2 million.  And then if you could turn the page of the compendium, we see -- at the bottom of the table, we see, I believe, the same numbers.  Correct?

I know it is small in here, but if you want to -- it's up on the screen.  Perhaps you can look at the screen.

So let's go -- we are looking at the number for 2020 right now for transmission, 685.912 million.

MR. JODOIN:  We do see they do not reconcile.  This is likely -- we did make an update to the compensation table.

DR. HIGGIN:  This is the correct updated version.  I just wanted to know which number we should be looking at, that's all, as simple as that.  We should be looking at the number in KT2.1, is that the number?

[Witness panel confers]

MR. JODOIN:  So we can confirm that the table that has been provided on page 19 of your compendium is the most recent compensation table.

You will note at the bottom, that's where you have -- so you will see total capital transmission compensation, total OM&A compensation.  That's the same table that's been provided in the excerpt on the prior page, except the prior page seems to be one of the outdated versions of the comp table.

So for all intents and purposes, page 19 of your compendium has the correct numbers.

DR. HIGGIN:  That's good.  I just wanted to clarify that going forward.  So now perhaps we could just remember two other numbers here in KT2.1 on page 19.  I know it is small, but on the screen you can see it.  I would just like you to remember those two numbers computed by Board Staff.  Not me.  It is not one of my errors if it's an error.  It is showing two numbers.

Just tell me what those two numbers that are computed by Board Staff are, because you accepted them as being okay.  You said they were okay.

This is the number which is 17 percent, 2022, versus 2018 and 4.2 percent.  Those are the two numbers.

MS. LILA:  I can see those on the chart, yes.

DR. HIGGIN:  So all I am saying is we're going to talk a bit about those numbers in a minute.  I am just trying to say when I talk about them, that's the numbers and that's the source, KT2.1, that I will be using as the reference, okay.  Those two numbers.

MS. LILA:  Understood.

DR. HIGGIN:  So could you please now turn over the page and go to page 20 of the compendium, please.  And you see at the bottom an extract from Undertaking JT2.1 -- 2.10.  Sorry.  Correction.  Part B of that undertaking.

This is where we see the number, the first number, come back.  That's the 4.2.  And then you have an explanation as to how that is derived.

Could you just explain first of all what the 4.2 percent means and then just take us through the explanation below.

MS. LILA:  So the 4.2 percent is referenced on KT2.1 on row 111, and this represents a calculation from 2018 to 2022, an annualized calculation of the change in compensation for the transmission.

DR. HIGGIN:  All right.  And that includes, just carrying on with the explanation, that can be broken down into -- you have made two pieces of that.  You can break it down into two pieces?

MS. LILA:  Correct.  Largely attributable to FTE and escalation changes.

DR. HIGGIN:  Right.  So I am not going to spend time on FTEs.  I will leave that to others.  I am just going to talk about the second piece of this, which is escalation assumptions in compensation, and then to the final statement where I am going is "overall transmission allocated compensation", as it says there, "increasing at a faster rate than the FTE increases".

Do you see that response?

MS. LILA:  Yes.

DR. HIGGIN:  Okay.  So can we now go and look at some of the pieces of compensation.  We have been talking about total compensation.  Now we are going to look at one of them, which is the benchmark that you have provided with the assistance of Mercer here.  Okay?  That is on page 21, please.

So as was discussed with Mr. Dumka, this is from F-04-01, page 36.  And this is Table 8 from the 2017 Mercer compensation benchmark.  And you have been through this with Mr. Dumka, so I won't go through it again, because we did ask you to update this to a more recent date.  And that is the table that is now designated below as I-02-021, which is Table 2 of Energy Probe interrogatory 21.

So this is just -- can I ask you to confirm that this is the most recent comparison that you have provided to Hydro One?

MR. MORRIS:  That is correct.

DR. HIGGIN:  Okay.  Now, when I looked at this I got a little confused at first, because could you just clarify with -- the categories are not the same.  They're labelled differently.

MR. MORRIS:  The categories are aligned with the category titles that were in the Mercer study and have been in the Mercer study for some time.

They don't necessarily -- they're not called the same things as in the compensation tables prepared by Hydro One.

DR. HIGGIN:  But Table 8, which is, I believe, from your evidence, just to clarify this -- I just want to be sure that they are the exact same categories.

And you have now used non-represented, which is management, MCP, which I would call MCP, energy professionals, the Society, and then trades and technical, PWU.  I just want to clarify --


MR. MORRIS:  That is Ms. Lila's evidence, not Mercer evidence.

DR. HIGGIN:  Oh, okay.  So perhaps, Ms. Lila, if you could just clarify that they are the same categories.

MS. LILA:  Yes.

DR. HIGGIN:  Thank you.  So just taking that, just to be clear, that is the same peer group used for this purpose, the same peer group that Mercer used?

MR. MORRIS:  Mercer was asked to provide a projection of the gap relative to the market median, and so there are two pieces associated with that.

One is Hydro One's total compensation values, and those compensation values have historically been calculated in three broad groups, because the compensation programs and historically the benefits programs were different.

At the same time, it is a comparison to the marketplace.  And the Mercer study is a very complex and time-consuming study.  It hasn't been repeated since 2017. So we projected forward the data from the 2017 study to calculate the dollar value of the gap to median by looking at a number of factors.

We looked at the base wage and base salary projections that Hydro One projected for each of the groups and we applied that and compounded the position that Hydro One's total compensation would fall.

Many of the elements of total compensation are all leveraged off base pay changes.  It's not perfect, but it is the best thing I think you can do in a generalized projection like this.

And then for each of the groups we also projected the market forward, but we projected the market forward based on our assumptions in terms of how the marketplace would move, and generally speaking for the collective, the unionized -- the predominantly unionized groups, energy professionals, trades and technical, we used a CPI-related projection. For the non-represented group we used CPI, plus .0, like .6 -- sorry, 0.6 percent in addition to that, and we projected them forward.

So we basically applied -- and also we took in changes in the number of employees on the Hydro One side.

So we projected these two things forward and then we looked at what the gap would look like in dollar terms.

DR. HIGGIN:  Thank you for that clarification.  And I just wanted to clarify as the note says underneath the table, first of all, confirm it was the same peer group that you projected, and secondly, that the CPI assumption was CPI plus 0.6 percent.

And the question I had was -- I think Mr. Dumka went into this -- the question of the CPI.  Why did you choose .6 percent, and was that -- again, the second question -- only, as you mentioned, for the MCP, or was it across the board?


MR. MORRIS:  Just to clarify your first point, the starting point was the peer group that was used in the 2017 study.


All assumptions about market movement are based on our view of what is happening in the Canadian compensation marketplace, and what will happen going forward into the future.  And so we relied on CPI projections for that.


So we're assuming that the peer group will act in the same way as the broader marketplace.


DR. HIGGIN:  So in essence, you're saying it is going to be CPI, plus 0.6 percent was the basis of this projection.


MR. MORRIS:  CPI 0.6 percent was only applied to the non-represented group.


DR. HIGGIN:  Okay, thank you for that clarification.


MR. MORRIS:  That was the .2 I hadn't quite got to, I'm sorry.


DR. HIGGIN:  Thank you.  I think we can look at this and we can say, in round numbers, that Hydro's getting better.  Would that be your assessment?


MR. MORRIS:  Well, that's correct.


DR. HIGGIN:  Thank you.  I would like to now turn to page 22 and back to the old SEC IR 55.  So as you would realize, the intervenors are very interested in the market premium amounts.


And so this is of course the original SEC 55 comparisons.  Underneath, again, is this table JT1.15.


First of all, clarify are both tables on the same basis?  Is it for Hydro One Networks, or, as table 2 is for -- yes, is for Hydro One Networks.  Is table 1 for transmission or Hydro One Networks?


MS. LILA:  Sorry, just in respect of your characterization of Hydro One's compensation as premium,  could we perhaps characterize it as above market.


DR. HIGGIN:  That's your word.  I used the word "premium", but yes, okay.


So the question is, just to clarify the basis on which these two tables were prepared, that's what I need to try to understand, that's all.


MR. MORRIS:  The table 1, JT2.15, were the initial projections that Mercer had done, and those were done on the basis of the combined businesses, distribution and transmission.


The figures under -- well, SEC IR 55, the top table are numbers that Hydro One calculated by applying a ratio of the allocation of costs between distribution and transmission.


So it would be the 2.15 figures times a percentage to get to, I believe, the tables.


DR. HIGGIN:  So using the B&V allocation methodology between the two operating companies, is that how that was done?


MR. JODOIN:  That's fair.


DR. HIGGIN:  Thank you.  So I think we have a clarification on that, thank you.


Just moving down a bit, would he see the question of what is called the capital allocation in JT2.9.


Now, Mr. Dumka brought you to an earlier version of this.  And the first question obviously is are we looking at the latest version of this capital allocation table and therefore, these are the numbers that we should be considering?


MR. JODOIN:  This is actually -- the version in your compendium is actually the outdated version.


DR. HIGGIN:  Again.


MR. JODOIN:  Of course.  This was subsequently updated in JT2.09, which included a further $4.2 million reduction associated with a revised pension revaluation, bringing the total net Mercer capital reductions from 24.3 to 20.1.  It is actually on the screen now for your reference.


DR. HIGGIN:  Okay.  Thank you.  I will look it up.  I must have missed that, sorry.


So the only question -- the other clarification is just quotes the capital allocation, what do you mean by the capital allocation?  Is it as you discussed with Mr. Stephenson, is that how this is calculated?


MR. JODOIN:  I apologize.  If you could just clarify your question.


DR. HIGGIN:  Yes.  I am just trying to understand with the capital allocation, so this is how it would compute to, for example, a revenue requirement amount?  Or how is it -- what does it mean by the capital allocation?


MR. JODOIN:  Sure.  I understand your question now.  Essentially what would happen -- and what we have quantified here -- is $20.1 million of capital-related above-median compensation.  Should that be translated into a revenue requirement item, you would first need to translate the capital to an in-service; so when is the assets' useful life essentially on.


You would then subsequently translate that to rate base.  So in the first year an asset is placed in-service, it is subject to average, okay.  Then in the second year, the full value of the asset would be in rate base.


From there, you would calculate your return on capital, any depreciation on a specific asset and associated income taxes, to come up with a revenue requirement impact.


DR. HIGGIN:  And the number we are looking at in the update of 20.1 is the revenue requirement impact.  Is that correct?


MR. JODOIN:  That is not correct.  That is the capital expenditure.


DR. HIGGIN:  Okay.  So then all of those subsequent steps that you mentioned have to be done to get to the revenue requirement.  That's helpful.


MR. JODOIN:  That's right.  And if it's helpful, the typical rule of thumb that we use for a rate base change to revenue requirement is approximately 8 to 9 percent.


DR. HIGGIN:  It depends on the cost of capital.


MR. JODOIN:  It depends on the cost of capital.  It depends on the type of asset, whether it is a long term asset or something that is shorter term in nature, like an ISD, or a fleet asset.


DR. HIGGIN:  Yes, I understand.  I often use the 9 percent number myself.  Thank you.


So, Mr. Chair, I am just at the point moving to the last piece, which is on pensions.  So I will leave it with you whether I continue, or whether you would like to take the break now.


DR. ELSAYED:  I think we should take the afternoon break now and resume at 3:35.


DR. HIGGIN:  Thank you very much.

--- Recess taken at 3:15 p.m.

--- On resuming at 3:36 p.m.


DR. ELSAYED:  Please be seated.  Continue, Dr. Higgin.

DR. HIGGIN:  Thank you, Mr. Chair.

So I am now going to move to one other area of the compensation, and that's the pension area, which has had some discussion today.  So if we could turn to page 24 of the compendium, and then we can look at the chart that Mr. Dumka showed you earlier.

My perspective is a little different, obviously.  Customer costs and rates are a more important part of my mandate.  So I do want a couple of other things to discuss about this chart, which I think are very important that we get to understand.

So first of all, leaving aside the overall, look at the left axis of the chart, and just tell us what does YMPE mean, how does this relate to the numbers and the bars that are shown in the chart?

[Witness panel confers]

MS. LILA:  So YMPE, as outlined on the chart, stands for yearly maximum pensionable earnings, and these thresholds are established by the government on an annual basis and they change every year.

DR. HIGGIN:  So the figures then that are the percentage numbers that we see here, just tell us, though, what they mean as it relates to that YMPE.

These are -- looking at the bars, there's the darker bars with the lower number and the higher bars with the higher numbers indicated.

MS. LILA:  So these reflect the employee contribution levels.  There is a number before YMPE and a number after.  So for example, in 2019 it is 8.8 percent before YMPE and 8 -- sorry, 11.3 percent after YMPE for employee pension contributions.

DR. HIGGIN:  So as Mr. Dumka pointed out, the employee contributions have gone up recently for, say, 2016 and so on.  They have gone up, or not?  That's the question I am trying to ask.  Have they gone up or not?

MS. LILA:  The employee pension contributions have gone up successively on an annual basis from 2013 until 2018.

DR. HIGGIN:  Yes, that's what Mr. Dumka said, and I have no dispute with that.

But what I want to understand is how YMPE works going forward, in terms of total compensation.  In other words, so as the YMPE increases, assuming no government changes, no changes to the legislation, so what happens to the dollar cost for the employees and for the employer going forward?

In other words, what's the dollar cost of the pension as it relates to the changes to YMPE; i.e., more pensionable earnings going forward.  What happens to total compensation?

[Witness panel confers]

MS. LILA:  So the YMPE levels, as I mentioned earlier, established by the government -- and there's -- may change year to year, but the levels of employee contributions before and after are based on the plan design.

DR. HIGGIN:  Right.  That's what we're coming to, the plan design.

So let's assume as I said that there is no change to the government legislation and the plan design is as it is shown here, correct?  You've got the plan which says from 2018 onwards it is, if you like, 8.8 percent of employee earnings, is there a contribution to the plan and the employer is 11.3 -- sorry, 11.3 for one group and 8.8 for the other group.  That is what it shows, right?

MS. LILA:  Just to clarify, so all of these contribution costs are employee contribution costs.

DR. HIGGIN:  Yes.  So what I am asking then, to the next question, is:  Looking at the ratio on the right, what does that say?  What does that scale say?

MS. LILA:  So the ratio on the right is the service cost ratio, which reflects the portion of the -- that the employee is paying relative to the employer.

DR. HIGGIN:  So in this case this is a chart for PWU.  It says 1.5.

MS. LILA:  Correct.  Which has come down from 4 in the --


DR. HIGGIN:  I didn't ask about the come-down.  I asked about the 1.5.  What does that mean in terms of the contribution of Hydro One and the employee?

MS. LILA:  So relative to the employer, the employee is paying slightly -- so the employer is paying slightly more.

DR. HIGGIN:  1.5 times what?

[Witness panel confers]

MS. LILA:  So just in very simple terms, just for clarification to your point, for every dollar that the employee is paying, the employer is paying 1.5 for this particular plan.

DR. HIGGIN:  For this group, yes.

MS. LILA:  Correct.

DR. HIGGIN:  We will come to one or two of the others.

Now, come back to my question.  What happens to the total costs of the pension contributions for each of the employee, that's the one part of the ratio, and to the employer as the YMPE -- i.e., pensionable earnings -- increase?  What happens?

MR. CHHELAVDA:  If you look at it in isolation, if the YMPE increases, then in absolute dollar values the contribution would increase.  But the pension doesn't work in isolation.  You have to look at plan returns and other things as well.  But to answer your question, if YMPE goes up, yes, the dollar cost goes up.

DR. HIGGIN:  And so in terms of dollar costs, total dollar costs, then am I correct that the employer, Hydro, will actually continue -- will pay more every year, as does the employee, but the rate of increase, because as the contributions increase will be bigger for Hydro One.  Am I wrong?

MR. CHHELAVDA:  You are not wrong.  However, if that's the only variable that you have -- that changes.

DR. HIGGIN:  No, I understand.  If you wish to clarify what are all of the other ones in the plan using the chart, I am happy to have your qualifications.

MR. CHHELAVDA:  I am not quite sure I understand that question, request.  If you are asking...

DR. HIGGIN:  It is very simple.  Over time, with a ratio frozen of 1.5, Hydro One will pay more dollars per year at a faster rate than the employee.  In other words, your contribution dollar-wise will increase faster.  That's all.

[Witness panel confers]

MR. CHHELAVDA:  So just for clarity, this chart that we are referencing in your compendium is based on the old valuation, right, the December 31st, 2017.

If you were to update this to reflect the 2018, there is a good likelihood that the cost ratio will change.  It will move further down.

So the employer will be contributing less than the employee.

DR. HIGGIN:  So this chart is not accurate going forward, is that what you're saying?  Whereas it is frozen.  I thought that was related to the agreement you had in this case with PWU that froze that ratio in essence.

[Witness panel confers]

MS. LILA:  So just for clarity, so this one point, this chart does not reflect the most recent valuation that was submitted under 2.31, and there would be changes to these levels as a reflection of the updated valuation that we received on December 31st, 2018.

And to answer your question, the contribution levels remain consistent as per the collective agreement.

However, there are further changes for the PWU forthcoming in 2025, which were also spoken about earlier, with respect to the agent service requirement for earliest undiscounted pension, as well as the top salary or high salary moving from three years to five years.

So those further changes are pending in 2025.  So there will still likely be some adjustments in the service cost ratio at that time, but I can't speculate.

DR. HIGGIN:  Thank you.  But we are here to look at your revenue requirement for 2020, and we have got a projection until 2022.  That's the period that we're dealing with.

So these are future considerations that may affect the cost ratio, as you have said.  It will not stay stagnant.  When you get to your next bargaining, then there could be changes, correct?

MR. CHHELAVDA:  There could be changes, but I just want to highlight that if the cost goes down further, we do have the pension cost differential that will capture any further reductions in employer contributions to be given back to ratepayers.  So there is that mechanism that is in place.

DR. HIGGIN:  But during this period that we're looking at here, 2020 to 2022, are you saying there's going to be money flowing no that from these other adjustments?

[Witness panel confers]

MR. CHHELAVDA:  We have updated our revenue requirement for the new pension valuation.

DR. HIGGIN:  I understand that.

MR. CHHELAVDA:  So if there are future changes that will reduce the employer portion of the cost, yes, they will be parked in the variance account.

DR. HIGGIN:  My question was not only about where they will end up; you've clarified that.  But do you contemplate any changes due to the plan as it stands today, that would affect that?

Now the contribution -- the plan has been updated.  You have done a new valuation.  It lasts for usually one or two years.  It governs the period here.  So that is one change you've made, and you have clarified that.

So I am just asking, are there any other changes that would...


MS. LILA:  So these levels are governed by our collective agreement process, and I can't really speak to any future changes.  But I can say what it is now, that these reflect what's in our collective agreement in respect of our contribution levels.

DR. HIGGIN:  Thank you.  I now just want to ask a question to clarify from Mercer.

When you did the projection -- that would be the one that you showed us you gave to Hydro One in I-02-021, table 2, that projection.

So when it comes to the pension component now of compensation, what assumptions did you make about -- how was the YMPE handled in those projections, knowing that there would be changes to the YPME me through the period.

MR. MORRIS:  In the base calculation for 2017, when we were evaluating Hydro One's total compensation, we took into account what known plan changes at that point, we placed a value on the pension amount.

When we looked at the projection, as I described earlier, it is a high-level projection and what we did at that point is we projected forward base wages, and made the assumption that base wages drive most of the other compensation elements as you go forward.

DR. HIGGIN:  Okay.

MR. MORRIS:  And in this case, you know, YMPE, as was mentioned, is the -- is actually, you know, it is set by the government and what it does is it's the amount that is actually pensionable under the Canada Pension Plan and many pension plans -- and frankly, I am not a pension expert, it looks like this one is integrated with Canada Pension Plan.  So that's why there are different contribution rates below and above the YMPE, because people will actually get a Canada Pension Plan to cover some of those lower earnings.

The primary drivers are, of pension, once the plan value has been established from a benchmarking perspective, from a Mercer perspective, are changes in pensionable earnings.

And so we basically factor everything up with pensionable earnings.

DR. HIGGIN:  So you did factor it going forward.  You assumed an increase in pensionable earnings going forward in your projection.

MR. MORRIS:  That's right, because base wages change and pensionable earnings are generally defined as either base or cash.  And so pensionable earnings were factored up.

DR. HIGGIN:  Okay.  So can you just turn to page 25 of the compendium?  We have had enough of these charts, I think.  We will just spend one moment on the bottom one here.

It is quite an interesting chart, because what it seems to me -- and maybe you can help me -- is that if we just look at the service cost ratio for the Society and then we look at 2018, the good news is -- as Mr. Dumka said -- it's one zero.  Why is it going up to 1.1 in the projection?

[Witness panel confers]

MS. LILA:  So, yes, this chart does show that the post-2005 Society pension plan has achieved the one to one ratio.  There is some variability in the ratios, based on forecasted plan costs.

That's part of normal course for pension.  They do have different variabilities from year to year, based on a number of different assumptions which are outlined in the valuation.

DR. HIGGIN:  So we can expect that next time we see a chart like this, it might go down below the one zero line?

MS. LILA:  That is possible.  And just once again to clarify, this is as of the 2017 valuation.  This has not been updated to the 2018 valuation.

DR. HIGGIN:  Yes, I understand. You keep -- my problem is asking for that update is it is a lot of work, and I am not sure how material it is.  But you keep saying, oh, but in 2018 it is different.  In 2018 it is different.

If you keep saying that, I am going to have to ask you to give me the update.  What do you think?  Give me 2018.  If you want to rely on 2018 as you have several times in your answers, please give us it.

[Witness panel confers]

MS. LILA:  We can take an undertaking to provide that.

DR. HIGGIN:  Okay, thank you very much.

MR. SIDLOFSKY:  K4.10.
UNDERTAKING NO. J4.10:  TO UPDATE THE TABLE AT PAGE 25 OF EXHIBIT K4.5 TO INCLUDE 2018 DATA

DR. HIGGIN:  Thank you very much.  Can you flip quickly to page 27.  This has already been dealt with now because Mr. Stephenson drew your attention to the update.

So could you just pull up the update to Undertaking JT2.31.  I missed the update.  So could you pull it up, please.  And look at the table.  Thank you.

So the question here is, when I formulated this undertaking, I had expected and hoped to get a similar data for the other two groups of employees; i.e., for the Society and also for MCP.  And it is not provided in here.  Only the PWU.  And that's only a partial.  Would you agree?

MS. LILA:  Yes.  The Society, as requested at the technical conference, was provided under JT2.32.

DR. HIGGIN:  So does it -- okay.  That is what I am asking for.  I haven't seen that one either, I'm sorry.  So my apologies.

So -- and what about the MCP piece?

MS. LILA:  That was not requested at the technical conference, but --


DR. HIGGIN:  Not by them.  But by myself, I did not distinguish -- if you look at the question that I asked here, it did not distinguish.  It just simply said --


MS. LILA:  I think if that is the request, we could certainly provide that for the final group --


DR. HIGGIN:  Thank you.  That would be helpful.  And rather than put it on to three different undertakings, could you put it into one, so you would embed this one and the Society one so we can see it all in one place.  That would be helpful.

MS. LILA:  Sure, sure.

MR. SIDLOFSKY:  That will be J4.11.
UNDERTAKING NO. J4.11:  TO EXPAND AND CONSOLIDATE THE RESPONSE TO JT2.31 TO INCLUDE DATA FOR THE SOCIETY, FOR MCP, AND FOR PWU.

DR. HIGGIN:  Thank you.

Now, my last question should be pretty quick.  I am going to move to page 28, and Ms. Lila, you were expecting this question, I know.  So here it is.  The question here is, we are looking at the line in F-02-02, corporate costs, human resources, and the line for human resources, this particular table goes up to the test year.  I will ask you in a minute what the projection is for the other two years that are part of this application; that is, '21, 2021, and 2022.  But let's deal just with what we have in front of us.

So I refer you to OEB Staff 189 of VECC 40.  Since these aren't in ours, I haven't listed them in the interrogatory.  Okay?  So -- but I would like to just go to the bottom line of this and try and save time, that being in VECC 40, at the final paragraph.

So this is a paragraph, if you go through the response, if we can just carry on to the bottom.  There we are.  At the bottom.  And you have an explanation here about some of the factors that have caused these significant increases in HR costs.

So the question I have is, do you have somewhere in the evidence an interrogatory response or an undertaking that shows the metric of human resource costs per FTE for the period 2015 to 2022?

If you have it -- we could also project to 2024 in a minute, but if you have that in the evidence I would like to know that and give you the reference.

MS. LILA:  No.  That information is not in our evidence.

DR. HIGGIN:  So would you be willing to provide that information; that is, the human resources cost by year from 2015 to 2024 projection?  But if you don't want to do the projection, just do to 2022, that is what we have before us; that is, those costs on a FTE benchmark basis.

MS. LILA:  I just want to help understand what you are clarifying is, are you asking why the costs are going up?  If I can clarify some of that and provide some --


DR. HIGGIN:  No.  I think we have seen the explanations.  I just want to know what the outcome is, in terms of HR costs per FTE for Hydro One.  That's all.  Just the outcome.  I am looking at outcomes here.  So that's what I would like to have.

MR. STERNBERG:  Listening to the question, perhaps Dr. Higgin can assist with the relevance.  We have evidence of the costs.  The witnesses said they can explain the reasons for what is happening with the costs.  I am struggling, frankly, with the relevance of the particular question of trying to have it on a per FTE basis.  So perhaps Dr. Higgin can assist us.

DR. HIGGIN:  It is quite clear, Mr. Chair, one of the main drivers that is being used to justify the increase is FTEs.  Okay?  The other one is complexities and -- et cetera, additional requirements and so on, and I am happy if they want to put in some caveats.

But I am just interested in the benchmark as to how their HR costs are proceeding relative to FTEs.  That's all.

MR. STERNBERG:  I am not sure if that level of granularity has been provided before or is typically provided.  I suspect it isn't.  Obviously we're in the panel's hands if you would find that useful, subject to -- I make that comment without knowing what work would be involved to provide that level of information.

DR. ELSAYED:  That would be helpful.

MR. JODOIN:  I guess I would comment that that level of granularity has not been provided historically as part of Hydro One rate applications either for transmission or distribution.

In our transmission 2017-2018 application, if you just bear with me, I am trying to reference here, there was some discussion regarding corporate common function segments within the company and associated spending drivers within those cost categories.

If I could direct you -- and I bring up that application because there was some discussion, and what we landed on was filing some evidence by each of the categories representing our labour and non-labour spending within each of the categories.

And bear with me.  So if we could pull up Exhibit F, tab 2, schedule 2, page 5.  Just bear with me.  I think I was looking at the pre-filed.  Yes, there.

So this is the summary view that was agreed upon as part of that application.  It was a way to provide an increased level of granularity by the corporate functions.

As you can see, human resources has been identified for 2019 and '20, both in total cost and in transmission allocated component.

Now, these represent dollars.  And I do recognize this is not a KPI in terms of the specific ask, but I am cognizant of the approach that was taken in that application and what we settled on, and is what is part of our application here.

DR. HIGGIN:  Okay.

MR. JODOIN:  The other comment I would make with respect to the specific years you have requested, I think it is important to note that Hydro One has requested -- this is a three-year application with the first year being a forward cost of service type approach, where we have provided detailed OM&A spending levels for the 2020 test year.

For 2021 and 2022, revenue requirement for OM&A is escalated.  It's not built up in this application with the same level of granularity, so that is important to keep in mind as you made the request for OM&A spend beyond the 2020 test year.

DR. HIGGIN:  I am happy if you decline that and just go to the 2020 year.

I am driving off this table and I can be quite happy if you want to break it into labour and non-labour, whatever you do.  But I am just trying to look at a KPI, as you said, relative to this.

This is done for many of your common costs, such as IT.  You do it; you do benchmarks for them.  So I don't think it is a very difficult thing to do this KPI benchmark, and I think it would be useful information to have on the record.

DR. ELSAYED:  Just to be clear, you are looking for costs per FTE?

DR. HIGGIN:  Yes.  That is all, sir, just that benchmark, with any caveats they wish to add as to data or any other things obviously.  Obviously it is their information, and I am happy for them to put any caveats.

DR. ELSAYED:  Would that information not be typically available to you?

MR. JODOIN:  The information is absolutely available and it is something we could produce with relative ease; I do want to be clear about that.  It is not a resistance of effort, for sure.

I do want to comment -- I believe you have used the word "benchmark".  What we can't assess right here is whether this is something typical in the industry and we have not done any exercise of benchmarking ourselves.

DR. HIGGIN:  I withdraw that.  I used the word KPI.

MR. JODOIN:  Fair enough.  Sorry, my apologies.

DR. HIGGIN:  No, I apologize too.

[Witness panel confers]

MS. LILA:  We can take that request can as an undertaking, if it is useful.

DR. ELSAYED:  Thank you.

DR. HIGGIN:  Thank you.

MR. SIDLOFSKY:  4.13.
UNDERTAKING NO. J4.12:  WITH REFERENCE TO EXHIBIT F, TAB 2, SCHEDULE 2, PAGE 5, TO PROVIDE THE COSTS PER FTE


DR. HIGGIN:  Thank you.  Thank you, Mr. Chair, for your tolerance and your attention.  Thank you.

DR. ELSAYED:  Thank you.  Are you finished?

DR. HIGGIN:  Yes.

DR. ELSAYED:  Thank you very much.  I think Mr. Harper is next.

MR. HARPER:  Yes, that's correct.  My name is Bill Harper I am a consultant along with Mr. Garner for Vulnerable Energy Consumers' Coalition.

I have prepared a compendium of the materials I may be referring to, and I believe copies have already been distributed to the panel and you have copies as well.  If we can give it an exhibit number.

MR. SIDLOFSKY:  That will be Exhibit K4.6.  Could I just -- I'm sorry, Mr. Harper, if I could interrupt you.

Dr. Higgin, were those two separate undertakings you were asking for, 4.12 and 4.13?

DR. HIGGIN:  No, I think we came to one undertaking.  My understanding with Hydro.

MR. SIDLOFSKY:  I'm sorry.  That is J4.12.  There is no J4.13 at this point, thank you.
EXHIBIT NO. K4.6:  VECC CROSS-EXAMINATION COMPENDIUM FOR PANEL 2


MR. STERNBERG:  Mr. Chair, if I may just before Mr. Harper begins, and I am saying this in the hopes of it being of assistance to the Panel and Mr. Harper.

We took a look at the break at the compendium that Mr. Harper handed out, and it appears at least some of the material is mapped to witnesses who are on panel 4.

Obviously, I don't know the specific questions Mr. Harper has, but it may be that some of the subject matter he seeks to ask about is to be dealt with by panel 4.

So I thought I would flag that and we can see how it goes, depending on his questions.

MR. HARPER:  Actually my first point was going to be to acknowledge specifically that, and say that I appreciate that while the main exhibit they're referring to, Exhibit H, is assigned to this panel.  But a lot of the supporting interrogatories had been prepared for or assigned to panel 4.

So my plan was to proceed until I was told wait until panel 4 and then we will stop there.  And in that regard, I was going to say this may take 10 minutes, it may take five minutes, it may take 20 minutes.  So we'll see how it goes on a Friday afternoon.

The other thing I was going to say is looking at the compendium, you'll notice my questions, you may be thankful to know, have nothing to do with compensation.  So we can move on to another topic and the compensation related people can perhaps take a rest at the end of the day now.
Cross-Examination by Mr. Harper:


MR. HARPER:  What I would like to look at is -- this is dealing with regulatory accounts, so I think it is probably Mr. Chhelavda who will probably be answering most if not all of the questions to the extent he can.

What I would like to do look is the LDC CDM and demand response variance account, and your calculation of the variance being forecast and actual impacts for 2017.

Would I be correct to say that the current variance account exists as a result of the Board's decision in EB-2016-0160 that the LDC CDM and demand response account established under the settlement agreement in EB-2012-0031 not be closed, but rather be continued for 2017 and 2018.

MR. CHHELAVDA:  You are correct.

MR. HARPER:  So perhaps we could turn to tab 1 of the VECC compendium and here -- for those who have no page numbers, it is PDF pages four and five.  And you will notice at the bottom of page 9 of the settlement agreement, can we agree that at the bottom of page 9 it essentially states this account was to capture the difference between the forecast and actual CDM savings forecast for the test years for OPA-funded LDC-delivered CDM programs?

MR. CHHELAVDA:  That's what it says, correct.

MR. HARPER:  If we go to the top of page 10, the account was also to capture the difference between the forecast and actual impacts of any additional demand response programs that were not reflected in those LDC reported savings.

MR. CHHELAVDA:  Correct.

MR. HARPER:  Okay.  And so that on the energy efficiency side, the account is focussing specifically on savings due to LDC-delivered energy efficiency programs that were funded by the OPA?  That was the intent of the account?

MR. CHHELAVDA:  At the time, yes, that's correct.

MR. HARPER:  Yes.  Would you agree that by extension, that is also the purpose of the account that we have before us right now for clearance as well?  All the Board said to continue with the same account.  If that was the purpose of the original account, that is also the purpose of the account that you maintain and that you are seeking for clearance through today.  Would that be fair?

MR. CHHELAVDA:  I'm afraid I will have to defer that question to Mr. Andre on panel 4.

MR. HARPER:  That may leave the whole -- okay.  Well, that may be the end of my of the questioning that I deal with with this panel, unfortunately.  Like I said, I am probably closer to the five than I was to the 20 at this point in time.

I know my colleague, Mr. Garner, also had some questions for this panel.  I think he anticipated me taking a little bit more time, and also there are some other Board deadlines for today that he had to execution himself in order to attend to.

So I think we had some time slotted for Monday morning and I think he was hoping to come back Monday morning and be able to finish off his questions in the time we had allotted for Monday morning.

DR. ELSAYED:  Well, he has some time for Monday morning, but you're saying a lot of what you were going to ask this afternoon...


MR. HARPER:  Like I said, I knew at some point in time it would get deferred to panel 4.  I thought I would get a little bit further down the road than I did with this panel before they started deferring me to panel 4.

But if their view as to what the intent of this account is is the subject of panel 4, then I really can't talk any more about what, you know, the calculations in the current account unless I've got the people in front of me who are willing to talk to what the intent of the account is to begin with sort of thing.

DR. ELSAYED:  How far can you go this afternoon?

MR. HARPER:  Well, I believe that is -- I believe that is as far as I can go, unfortunately.  If they are unwilling to talk to me about what the intent of the current account is, then I really can't talk any more with them about how they have calculated the account or what is appropriate to put in it, unfortunately.

MR. STERNBERG:  Given what I have just heard, and in order to hopefully practically make efficient use of the remaining time today, would it be appropriate to move on to the next party, Anwaatin, have them question and have some time reserved on Monday for VECC to finish its questioning, since I hear they aren't able finish their questioning now?


That would be fine with us, if that is fine with others, so we cannot lose the remaining time today.

DR. ELSAYED:  Yes.  Mr. McGillivray, you seem to be nodding his head that you can do that this afternoon?

MR. McGILLIVRAY:  That's fine with me.  I don't expect to be too long, though, so I don't know how much more time I will be able to add.

[Laughter]

MR. McGILLIVRAY:  But at least ten minutes or so, I think.

DR. ELSAYED:  I haven't been at too many hearings where we are trying to kill time, but...

[Laughter]

MR. HARPER:  I would like to thank the panel very much for their indulgence.

DR. ELSAYED:  Thank you.  I guess we will hear from you again --


MR. HARPER:  In panel 4.

DR. ELSAYED:  In panel 4, yes.  Please go ahead.
Cross-Examination by Mr. McGillivray:

MR. McGILLIVRAY:  Thank you, Mr. Chair.  My name is Jonathan McGillivray.  My co-counsel in this proceeding is Lisa DeMarco, and we are counsel to Anwaatin.

I think, like I said, I will be quite brief.  I would like to address a point arising out of Hydro One's 2018 annual report, which is found in Exhibit A, tab 6, schedule 6, attachment 2.  If we could pull that up.  And in particular, I would like to go to the management's discussion and analysis section of that report.

If we could go to page 50.  Unfortunately, I am not sure which page of the PDF that is.  That's good for the moment.

The main heading here a few pages up is -- or there is actually two headings, risk management and risk factors, and then a sub-heading, risks relating to Hydro One's business.  And then specifically I would like to look at the second paragraph under the sub-heading Indigenous claims risk at the bottom of page 50.  Yeah, that's it.

I am not going to ask you to speak to the substance of these points, but I would just like to identify three of them for the record and then ask you a couple questions about the reasons for which this sort of information might be included in Hydro One's financial disclosure.

At the bottom of page 50 it says:

"The company's operations and activities may give rise to the Crown's duty to consult and potentially accommodate Indigenous communities."

Do you see that?

MR. BERARDI:  Yes, I do.

MR. McGILLIVRAY:  And then it goes on to say:

"Procedural aspects of the duty to consult may be delegated to the company -- that is Hydro One -- by the province or by the federal government."

Do you see that?

MR. BERARDI:  Yes, I do.

MR. McGILLIVRAY:  And I will just summarize this next -- I think it is one sentence.  It says:

"A perceived failure by the Crown to sufficiently consult an Indigenous community or a perceived failure by the company, Hydro One, in relation to a delegated consultation -- or, sorry, in relation to delegated consultation obligations could result in legal challenges against the Crown or the company."

Do you see that?

MR. BERARDI:  Yes, I do.

MR. McGILLIVRAY:  And then at the end, I think it is the top of the next column, still on page 50, it says:

"If this occurs it could disrupt or delay the company's operations and activities, including current and future projects, and it could have a material adverse effect on the company."

Do you see that?

MR. BERARDI:  Yes, I do.

MR. McGILLIVRAY:  Am I right that this sort of language relating to the duty to consult appears in MD&A because it may constitute a material financial risk for Hydro One?

MR. BERARDI:  I would suggest it is referring to our ability to obtain permits on TX assets on reserves.

MR. McGILLIVRAY:  Okay.  So it is specific to that sort of scenario.  It's not broader than that?

MR. BERARDI:  Duty to consult is broader than the specifics around TX assets on reserve.  So I believe it is talking about both things, when we talk about specific projects and when we talk about sustainment of our system.

MR. McGILLIVRAY:  Okay.  So it's there because it might have a material adverse effect.  I think those words are used on Hydro One?

MR. BERARDI:  That's correct.

MR. McGILLIVRAY:  Okay, thank you.  And would I be right to conclude that Hydro One considers this issue to be important enough that it constitutes that sort of disclosure?  Or, sorry, requires that sort of disclosure?

MR. CHHELAVDA:  So, I mean, just for context, you know, Hydro One is required by legislation and OSC and SEC guidelines to disclose all risk factors that can have an impact on their business or ability to execute plans or ability to continue with projects, impacts on earnings.

So it is a requirement.  And we have to provide this -- we have to provide plain, clear disclosure of all risks so that all stakeholders are fully informed.

MR. McGILLIVRAY:  Thank you.  So if I am right, then when it appears here like it does in MD&A it is one of those risk factors that might impact the business?

MR. CHHELAVDA:  That's correct.

MR. McGILLIVRAY:  Thank you.  And does Hydro One quantify or measure this sort of risk factor?

MR. CHHELAVDA:  There can be so many permutations and combinations within each risk factor that it would be virtually impossible to quantify it.  You just have to say, would this risk, if it materialized or, you know, if a combination of them materialized, would it have a significant impact on your business?  If the answer is yes you would disclose it.  Quantification, to the best of my knowledge and belief, I have never seen any of these quantified.  So the short answer is, no, I don't believe it has been quantified.

MR. McGILLIVRAY:  Are there other risk factors that are quantified that are more maybe amenable to quantification?

[Witness panel confers]

MR. CHHELAVDA:  So again, to the best of my knowledge, I don't believe -- the majority of these have not been quantified, just because if you are going to do that exercise you would have to look at all of the various permutations and combinations, and that could be a very lengthy exercise.

It's just, you know, you know -- you have a sense of which risks if they materialize would have a significant impact and, you know, these are reviewed every year or if a triggering event occurs, and then they are prioritized in terms of, you know, which ones are -- which ones do we perceive to be more significant than others and their risk rank.

So in terms of quantification, I am not aware of any of these that really lend themselves to a very simple, clear quantification.

MR. McGILLIVRAY:  That's helpful.  Thank you.  I guess, just to be very clear, if it's a risk factor that has a potential significant effect or a potentially significant effect on the business, then it would be included in this sort of financial disclosure?

MR. CHHELAVDA:  That is correct.

MR. McGILLIVRAY:  Thank you.  Mr. Chair, those are all of my questions.

DR. ELSAYED:  Thank you.  So we will adjourn at this point, and everybody have a good weekend, and we will see you at 9:30 on Monday.
--- Whereupon the hearing adjourned at 4:28 p.m.
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